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First Part
PHYSICS

In the fig. shown the potential of junction
Ois:

+6V

C -6V

(D) 1V

A cube of side b has a charge q at each of
its vertices. What is the electrical potential
at the centre of the cube?

Wy |
ofifaes Im=A

Wﬁiﬁﬁaﬁﬁaow‘r‘aﬂaﬁrﬂam:

+6V

6€)
O

00
+3V +2V
(A) 3V
B) 0
© -6V

(D) 1V

b Waﬁ@mﬁmﬁmmq
T T R | 59 SR ¥ e T e fee
o2

44 49
(A) J3 meyb (A) J3 meb

Y3 q J3 g
® & e,b ® = €ob

29 .24
© = €ob © = €ob
(D) =zero (D) A
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Two rods of the same length and diameter
having thermal conductivities K; K, are
joined in parallel. The equivalent thermal
conductivity of the combination is :

K4Ky
(A) K'l +K2
(B) KqtK;
K1 +K2
© 5
(D)  JKiKp

The relation between number of free
electrons (n) in a semiconductor and
temperature (T) is given by :

(A) naT

(B) naT?

(C) navT

D) naT?

As shown in fig. a convergent lens is
placed inside a cell filled with liquid. The
lens has Focal length +20 cm when in
air and its material has refractive index
1.50. If the liquid has refractive index
1.60, the focal length of the system is :

K, & K, S =reiehal areft & e foment
TS o Y G §, THK % § S T8
¥ 79 ae W o ST aretshal g

KKy
(A) K +K,
(B) KytKp
Kl +K2
© —5
(D)  yKiK,

T s W G SelFgHl Sl GEA (n)
a9 (T) H Gray fear s €

(A) naT
(B) naT?
(C) navT
(D) naT?
oo w S | 1 g9 | WA
T W@ T gl W9 HEE H W gl
+20 Y. T 7 3TF vered H STvEEHAIR

1.50-81-afE Za-wh-FUEHH-1.60-8 Gl

frepra =) wIRd 4 BN

(A) +80 cm (A) +80 cm
(B) —-80cm (By —80cm
G =24 cm ) -24cm
(D) —100 cm (D) -—100 cm
SPACE FOR ROUGH WORK / T% & & fo& Sg
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Q
C, =18 uF @,c2=9 uF
_,%5 9&1.
Cy=9 uF /@cﬁ&s uF
S

From above circuit. For parallel equivalent
capacitance CR between PRis:

(A) 5 uF
(B) 18 uF
(C) 9 uF

(D) None of the above

A professor readsa greeting card received
on his 55t birthday with +2.5 D glasses
keeping the card 25 cm away. Ten years
later, he reads his farewell letter with the
same glasses; but he has to keep the letter
50 cm away. What power of lens should

he now use ?
(A) +15D
(B) +25D
(C) +35D

(D) +45D

6.

Q

c,=18 pF/P(cfs; uF
41)/ \R

—HC
\; 9uF
Cy=9 uE | / Cy=45 uF
S

ST Circuit SR A T fet CR,
PR % WA B0

(A) 5 pF
(B) 18 pF
(C) 9 uF

(D) T # W T

T{asq‘l%ﬁmamﬁ%a?mﬁwmwﬁ;ﬁﬂ
FrE = g & fau +25D % oG Bl
25 cm g8 W TEI € =g A o ST
@aﬁqﬁwﬁ—ﬁﬁ%ﬂi{é@.m@;ﬁ_ﬂi
T e B | a7 T Tore TR F Y I
TRl § 7

(A) +15D
(B) +25D
©) +35D

(D) +45D
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8.  Rate of change of torque 7 with deflection 8. HHEY Johid &5 B H fHeifaa g W e
0 is maximum for a magnet suspended in ot el ATl ¢ H fagg ¢ o e aRikeds wl
a uniform magnetic field B, when : o Sfeenag @Tﬂ, SEN
(A) 6=0° (A) 6=0°
(B) 6=45° (B) 6=45°
(C) 6=60° (C) 6=60°
(D) 8=90° (D) 8=90°

9. A transformer has 50 turns in primary 9. U ZIHBHT &I Wefhes T fgeiiaes sefes
and 100 turns in secondary. If the H W o ST shEE: 50 91 100 € 1 Wefhe
primary is connected to 220 V d.c. supply, el i 220 V fow 910 #d 9 Sigd W
then the voltage across the secondary will Tgeiters ¥ I aeest BT
be :
(A) 440V (A) 440V
(B) 220V (B) 220V
(G 110V © 110V
(D) 0V (D) 0V

10. A satellite with Kinetic energy Eg-is—— 10.—SepR-H&-H-JeaT % =N SR TS el
revolving round the earth in a circular Ep F TG KT AR TIRL FHIE @ gl
orbit. How much more Kinetic energy e STaRy ¥ womad & o fag 399 oiR
should be given to it so that it may just TRt s1fues wifast ool oA ST STeaeha
escape into outer space ? Bt ?
(&) Eg (A) Eg
(B) 2Ex (B) 2Ep

1 1
{ —E —E
(D) 3Eg (D) 3Eg
SPACE FOR ROUGH WORK / % &1 & &g smig
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11.

12.

A magnet makes 5 oscillations per minutes 11

in earth’s magnetic field (H=0.3 gauss};
By what amount should the field be
increased so that the magnet may make

10 oscillations per minute.

(8)
(B) 0.3 gauss

0.6 gauss

(C) 0.9 gauss

(D) 1.2 gauss

_At a certain place a magnet makes  12.

30 oscillations per minute. At another
place where the magnetic field is double,
its time period will be :

(A) V2s
(B) 2s
(C) 4s

o | =

(D)

A nucleus at rest splits into two nuclear  13.

parts having radii in the ratio 1 : 2. Their

velocities are in the ratio :
(A) 8:1
(B) 6:1
€ 4:1
Dy 2:1

@Wqﬁﬁwmm;—osm
ﬁsa\aﬂuﬁﬁﬂzm%,ﬁaaﬁqmﬁ
mﬁmmmﬁﬁawmam
wfa fire &L

(A) 0.6 gauss ()
(B) 0.3 gauss (i)
(©) 0.9 gauss (i)

(D) 1.2 gauss (TIE)

s fade wE W& g 1 fime ®
30 S I € Tt g N gE T
aﬁwaﬁwmﬁwﬁaﬂm%
Srer U S ¥ T T W gEE A
sTadeRTd B

(A) 2 TS
(B) 2 U®HTS
(C) 49&HTS

(D) %—@m

Wﬁ@@ﬁ%ﬁﬁﬁﬁm
@m%mﬁﬁmﬁma@wlzz%
<@ TSl ¥ Al o ST T

(A) 8:1
B) 6:1
€ 4:1
D) 2:1
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14.

15.

16.

A volimeter consists of a 25 Q coil 14.

connected in series with 575 () resister.
The coil takes 10 mA for full scale
deflection. What maximum p.d. can be
measured on this voltmeter :

(A) 4V
(B) 6V
(C 8V
(D) 10V

A uniform string of length L is placed on ~ 15.

a frictionless horizontal surface. Its one
end is pulled by a force F. Tension in the
string at distance / from this end will be :
(A) F
® TF

L

L
© 7

l
(D) (1 - E)F

A tangent galvanometer has a coil of  16.

25 turns and a radius of 15 cm.  The
horizontal component of the earth’s
magnetic field is 3 X105 T. The current
required to produce a deflection of 45° in
itis:

(A) 014 A

(B) 029 A

< 12A

(D) 3.6x1075 A

Teh SICSAT! i HEal 1 Ffade 25 O ¥ ae
IHH WY FuiiHH H I Wi 1 HE 575 Q
Bl 10 mA ¥R % faw gof whet fadiv g
M| TH oA § At ST SfermaT
TaveieR =1 | 2

(A) 4V

B) 6V

(C) 8V

(D) 10V

w7 ea &fast Tag W W@ L S S T
THIEH T & Th R 9 99 F 57 it
ST El 39 R W 1T M § e
BT ;

(A) F

B F

© TF

TF YT gRET it Fvee ¥ 25§
o 3o 15 QAL ¥1 gedl & Rt O %
SIS w2 H T 3x 105 THem &1 39
ARt H 45° 7 T899 e ¥ a9
HRT 1 TH BN :

(A) 0.14 TR

(B) 0.29 iR

(C) 1.2 TR

(D) 3.6x10~5 TR

SPACE FOR ROUGH WORK / W& & & fa& wg

Set- A 8

0821/ BE-SC/PP-M




17. The potential difference between points

A anc. U in the circuit shown in fig. - 118

V,=12V A
f—' =
—Ei?)pf chfz,m
v,a2v B
fig. -1
(A) 6V
(B) 2V
€ 10V
(D) 14V

18. A particle is moving in a circle of radius
R in such a way that at any instant the
normal and tangential components of the
acceleration are equal. If its speed at t=0
isV,, thien the timetaken-to complete its

first revolution is :

R

GV

(B) ;,R—(l — e
R o

© v
2mR

D) v,

17. fam-1 9 <3 T ofag # g A SIRBH
e favara o1 | B

V=12V 5
-—raw—-h-—-\
‘LC1=3.}LF 'J_-C.2=2MF
|____|,_+j

v,=2V B

fas -1

(A) 6dE
(B) 29E
(C) 10 &ee
(D) 14 =ee

18. R T % T AR 99 W TH S I
s T R T & iR e & SEen e
ey g R 3 RE aUeR ¥ 1 A
(=0 W KU F W@ V, B d A TR

e B ferm T S B
R

(A) v,

® w1

(C) _\_IR; e—ZTr
2R

D) v,

SPACE FOR ROUGH WORK / 1% w1 & o SE
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19.

20.

When a mass M is attached to the spring  19.

of force constant K, then the stretches
by I. The mass oscillates with amplitude
1, what will be maximum potential energy
stored in this spring :

KI
(A -

(B) 2KI
(@) —;— Mgl
(D) Mgl

Two point charges —q and +q are 20.

located at points (0, 0, —a) and (0, 0, a)
respectively. What is the electric potential
at point (0, 0, z) ?

ga
(4) 4 e, z?
.
(B) 4 me, a
2qa

© 4 e, (zz—- a2)

2qga
(D) 4 e, (zz+ a2)

o fraais K 9 $9F 9 gmE M @
s o T waE) ¢ v fawaia 9
T T T ST | iR % WY e
F w1 war ¥ diem sityaan favg el
HHAE : |

aﬁfﬁm —q +qﬁﬁm: forgail
(0,0, —a) T (0, 0, a) W& T B fag

0, 0, z) W fawga fawa =1 A & -
ga
(4) 4 me, z
q
(B) 4 e, a
. 2%29a
© 4 e, (22~ @)

2qa
4 me, (zz+ az)

(D)

SPACE FOR ROUGH WORK / % &1d & o s
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22.

A metal wire of mass m slides without
friction on two rails at a distance d apart.

The track is in a vertical uniform field of
: -
induction B. A constant current

-
7 flows along one rail across the wire

and back down the other rail the velocity
of the wire as a function of time, assuming

it to be at rest initially.

Bid
Ay —
m
Bidt
® —
_m
©  Bidt

(D) None of the above

The rate of radiation of a black body
at 0°C is E Joules/sec. The rate of
radiation of this black body at 273°C will
be:

(A) 16E
(B) 8E
(C) 4E

(D) E

21.

22.

o T 1 A T T ¥ 0 e
2 Yo w frwer &; Y@ Wik 1 g0 d B1EF

et T T T 8 B ¥ e e

7 o Yo % T AR R AR € qe g
iﬁé?éaﬁgmﬁ,ar{waﬂw%wﬁ
?ﬂn,a%mgq%mﬂﬁ%m%: '

Bid
B o
Bidt
® —
_m
©  Bidt

(D) W H ¥ FE T

0°Cmmﬁm@maﬁméaﬁma
E 5@/3. B o730C R 79 i = fafem
TR

(A) 16 E

(B) 8E

(C) 4E

(D) E

SPACE FOR ROUGH WORK / % = & o e
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23. The potentiometer wire AB, shown in fig, 23. faz # wefdfa faveurdt ar AB &t KEIH
is 50 cm long. When AD =30 c¢m, no 50 cm el AD=30cm & f&T yrmm GH
deflection occurs in the galvanometer. ¥ a8 W g RI'RHAME:

The value of ‘R’ is :
6 R 6 R
[
A i
S y |
A D B A D B
(A) 4Q (A) 40
(B) 8Q (B) 8Q
<) 120 © 120
(D) 20 (D) 2Q

24. A thread forming a loop is dipped into ~ 24. T % Tk T4 HI T 3 Hiel § GolTehT SET
soap solution and taken out so that a film et | WA o Hier w1 qaen feed s
of soap solution is formed. A loop of  ®16.28 o TEE % HF % U W 56 TR
6.28 cm long thread is gently put on the R TR fren # g8 e <7 9 U T A
film and the film is pricked with a needle 3MPfa & & ¥ AR wEE % Hid o s
inside the loop.” The thread Ioop takes the TA 3 X102 N/m & af &rl § el i 4T
shape of a circle. If the surface-tension of B :
soap solution is 3x 1072 N/m, then
tension in the thread is :

(A) 3x1072N (A) 3x1072N
(B) 3x1073N (B) 3x1073 N
(C) 3x1074N (C) 3x10%4N

3 102 3 -2
—x107" N —X107“ N
D) 5 D) 5=
SPACE FOR ROUGH WORK / T% & & & g
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25. A compound microscope has an objective ~ 25. T® SREH geeet | aifgvass Wl Tihd

of focal length 2 cm and an eye piece of g 2 cm T ARt & B g0 5 em 71
focal length 5 cm. If an object is placed Ife o & &G F T 2.4 cm g W
at a distance of 2.4 cm infront of the field < T & A saeR T v g

lense, the magnifying power of the
instrument will be :

(A) -5 (A) -5
(B) +5 (B) +5

() -10 € -10
(D) +10 (D) +10

26. Molar specific heat of a gas during 26. arwardt wen B g @ e fafere S

isothermal process is : g:

(A) 0 (A) 0
5 5

® o 3
3 3

© 3 © 3

(D) = (D) =

SPACE FOR ROUGH WORK / 1% & & o e
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27. Astraightrod of length Lisrotatingabout ~ 27. LTI % ©8 i FoRIgar forg O | TeRAare
an axis passing through O, as shown in 1 & 9RA: Th—aa%mwaaaﬁa
fig. in the space, a uniform magnetic field & B H T[T KT ST B fpawQ®
B exists normal to the axis of rotation. e I Tavaie 8
Potential difference between ends P and
Qis:

LN 4L Loy 4L
5 ‘ 5 5 5
P > P *+—|
4 Q & Q
J ® Y @
8 2 8 2
(A) 2_513wL (A) 2—5-BwL
7 2 7 2
3 2 3 2
©) EB(DL (@)} EB@)L
(D) 0 (D) 0

28. Which energy state of a doubly ionized 28, BRENM W Jo ol Sfoedl % HAH EX|
lithium (Li* *) has the same energy as Tttt fgemafa fafrem (Lit +) # ®F
that of the ground state of hydrogen St ofereen Bt ? (fafugd & fed 2=3)
(z=3, for lithium) :

(A) n=1 (A) n=1
(B) n=2 (B) n=2
(€ n=3 (C) n=3
(D) n=4 (D) n=4
SPACE FOR ROUGH WORK / T% 1% & o/ STg
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29.

30.

A tunning fork of frequency 512 Hz is
vibrated with a sonometer wire and
6 beats per second are heard. The beat
frequency reduces if the tension in the
string is slightly increased. The original
frequency of vibration of the string is :
(A) 506 Hz

(B) 512 Hz

(C) 518 Hz

(D) 524 Hz

The laws of Newton are applicable :
(&)

to a particle moving with relativistic

velocity
(B) in inertial frame
©

(D)

in non-inertial frame

to a particle moving with non-

relativistic speed in an initial frame

A telescope consisting of an objective of
focal length 60 cm and a single lens
eyepiece of focal length 5 cm is focused
at a distance object in such a way that
parallel rays emerge from the eye-piece.
If the object subtends an angle of 2° at
the objective, then the angular width of
the image will be :

(A) 10°

(B) 50°

() 18°

(D) 24°

29.

30.

31.

512 Hz 319 & T i Gl %
¥ W S HOY R TR ST 6 el w
¥\ qr ¥ aE FE oA 4 foes @t st e
ol ¥ AR e engfa €l

506 Hz
512 Hz
518 Hz
524 Hz

(A)
(B)
©
(D)

=g ¥ Fram arpea €
(A) wrfes 31§ RIS w9 R

(B) veca few @ F

(©) gt fiw

(D) el frdw o # ormiafia 9 |
Tifaefier 9 W

60 T, BreRE O AR T AR A

Wmaﬁ%ﬁaﬂ—mﬁ%ﬁw
o0 5 A 31 v w5
wmﬁﬁ%@rw%lmﬁw
g Frwer &1 aft axg AfgwEs W
oo g1 O AT & A wffae ) i e
1 TF B

10°
50°
18°
24°

(A)
(B)
(©)
(D)

SPACE FOR ROUGH WORK / T® wd % fa e
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32.

33.

A projectile'is fired with a velocity V at
right angle to the plane, which is inclined
at an angle 8 with horizontal. The value
of range along the inclined is :

2
(A) EA/ tan@ sect
&
Vi o,
By — tan“@
®
2 V2
Cy — tan®
©
VZ
D sect
D) —%

The peak voltage in the output of a
half - wave diode rectifier fed with a
sinusoidal sigr@l_“it@@ filter is 15 V.
The dc component of the output voltage

1S

(A) 152V
® -V
© 15V
@ =V

32.

33.

&fes | 0 FI W 79 @ | wEq fam §
Wk Y &1 V AT § wafud fean s g1 @

T F ST T T IIE B
2
(A) 2V tan® secO
g
v? 2
< tan“
(B) . .
2v?2
£ tand
©) p an
VZ
0
(D) 5 sec
T S SHiE TR R Fast sk
farier evmen T § fomn freer 39 fesiedt

w1 fofq ofid e 15 e & L e dees — — —— —

T de STTG FI AR -

(A) 1542 9
(B) % e
(C) 15 dre

30
m

(D) e

SPACE FOR ROUGH WORK / 1% & & fordl sig
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34.

35.

The photoelectric threshold of a certain
metal is 3000 A. If the radiation of 2000 A

is incident on the metal :

(A) electrons will be emitted.

(B) electrons will not be emitted.
(C) positrons will be emitted.

(D) protons will be emitted.

In a region of space, the electric field is

- A A A
given by E = 8i+4j+3k. The electric
flux through a surface of area 100 units
in the xy plane is :
(A) 800 units
(B) 300 units

(C) 400 units
(D) 1500 units

__36. _Apointsource of lightis placed 4 m below

the surface of water of refractive

index 3 Minimum diameter of a disc,

which should be placed over the source,
on the water surface, to cut off all light

coming out of water is :
a) =

(B) 3m

(C) 4m

(D) 6m

34.

35.

fopdt mﬁmﬁaﬁéﬁaﬁﬂu—,&vﬁ
2000 A §1 @fE ag W safaq e w
qETEE 2000 A & 99 ¢

(A) SR T Feas BT
(B) TRl ol S el g |
(©) ifsil oSS Erm
(D) Tl ol SeEsi B |

s & A fagur fawld &3l &1 °H
E = 8?+4?+32§mwaﬁﬁwc—m%lsﬂ
%ﬂﬁxyaaﬁr@nﬁmowé%maﬁ
@W@Wa@ﬁwwwm%:

(A) 800 THTE
(B) 300 T
(C) 400 3T
(D) 1500 T

5 .
36._%3195'???165&5%%;11@@4%%

JerTel 1 U TG B §1 R 1 6qE W

e e ST Wt <R i Tk o e
mmmnaﬁaﬁwmmz

(a) =

(B) 3m
€ 4m
(D) 6m
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37.

The acceleration of an electron at a

certain moment in a magnetic field

o7, , o &7 B
g ol et (4 @_) 3

A AR A e
B=2i+3j+4k ¥ TH

_B)=2?+3?+42 is (sz' +?_2). Lo EER Y

The value of x is : :

(A) 0.5 (A) 0.5

(B) 1 B) 1 |
(C) 25 C) 2.5

(D) 1.5 (D) 15

38. In the fission of U-235, the percentage of 38. U-235% foguea & wf T gfafda 3 g
mass converted into energy is about : T i W9 T ©
(A) 0.01% (A) 0.01%

(B) 0.1% (B) 0.1%
© 1% © 1% ;
D) 10% (D) “10%

39. A light source approaches the observer ~ 39. 0.8C 71 % W1 Tlg W1 foig Toh Hareh it
with velocity 0.8C. The Doppler shift of 3R STE ¥ 5500 A qOTRE F YeHTe
or the light of the wavelength 5500 A is : S TR fehdT 3 ?

(A) 4400 A (A) 4400 A
(B) 1833 A (B) 1833 A
(C) 3167 A (C) 3167 A
(D) 7333 A (D) 7333 A
SPACE FOR ROUGH WORK'/ T& @4 & ferdl se
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40.

41,

Two slits in a Young's double slit
experiment have equal width and the
source is placed symmetrically with
respect to the slits. The intensity at the
central fringe is ;. If one of the slits is
closed, then intensity at that point will
be :

(A) I
I
®
I
© 3
(D) 41,

A battery of emf € and internal resistance
ris used in a circuit with variable external
resistance R. The value of R for which
power-consumed-in it s maximum will
be:

(8)

N

N |

(B)

(D) 2r

40.

41.

< 3 fo- o - § el &t =g
¥ qon S T feom ¥ 1 af e e
mloaﬁ@ﬁa@ﬁaﬁwéﬁ%

T < fereg X <freren 2
(A Ip
I
®
I
© 5
(D) 41,

fa.m.a.samaﬁaﬁawﬁwrﬁs@éﬁ@
ofedt ST TRRY R | S Wi R %
frg T % fau sad o1F v S
B ¢

(&)

]

N

(B)

© r

(D) 2r

SPACE FOR ROUGH WORK / % wrd & S - e
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42. The 'deflection in a moving coil

43.

galvanometer falls from 50 divisions to

10 divisions when a shunt of 12 ohm is"

applied, the resistance of

galvanometer is :

() 240

(B) 48 Q

€ 120

(D) 60Q

The molar specific heats of an ideal gas
at constant pressure and volume are

denoted by C, and C, respectively. If

C..

Cy
constant, the C, is equal to :

and R is the universal gas

the -

42,

43.

TS HfaT Higa Aeawier w1 fagqu
50 9T ¥ 10 9N & Wl §, 5o 390 W 12 W
vie TR foran s €, Treamrder =1 gfadie
®:

(A) 240

(B) 480
12 Q
(D) 60 O

forelt eedl T & o frag @ vg e
TR HrerR ferfiree S shET: C, W C, | waRid

Cop .
W ST ?Iﬁ;'v=~5"~%’famRmsff‘%

T Fraais &, @ C, % 9 a0e 3

(A) R (A) YR
1+ 1+
® 1=y ® 1,
'R R
© -1 Q@ v
o (y-1 -1
D) (v - ) D) (v - )
SPACE FOR ROUGH WORK / T% &1d & fad sig
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4.

A bomb of mass 30.0 kg explodes in two
fragments in ratio 1: 2. At the instant of

explosion the velocity of the bomb was

(10? + 5/]\) m/s. If the velocity of bigger

fragment just after the explosion is

/\ .
(100i +507+10 ?c) m/s then the velocity
of the smaller fragment just after the

explosion is
A A A
~170i ~85j—20 k
A A A
170i +85j+20 k
A A N
~100i —50j—10 k

A A A
~200i —1007—20 k

The shape of the orbitof a planet depends
on:
(A)
(B)

angular momentum

total energy

46.

(C) both angular momentum-and-total
energy

(D) none of above

The angle of prism is 30°. The ray incident
at 60° at one refracting face suffer a
deviation of 30°. The angle of emergence
is:

Ay 0°

(B) 30°

(C) 45°

(D) 60°

44.

45.

46.

30,0 Feran EeT 1 e o, o o fereifea
3| 99 1: 2 S A A 2ZHE H
S ¥ afe frde ¥ T TR TS THS B
a1 (1007 + 507+ 10 &) /@ 7 e
¥ qid € B THS H AW :

(&) -170} —85]-20 k
®) 1707 +857+ 20k
© ~-100% —507-10k
(D) 2007 —1007-20 k

@uﬁaﬁwmméwr{ﬁﬁzm%é

(A) IO T W
(B) T Sl W

@Fm@mmq

(D) ST H B T

A0° ST N0 A T T TR e e
60°%aﬁwmamﬁm%| 39 oo # 30° &1
foraer S B R Forrtar proT =61 WM BT :

(a) 0
(B) 30°
C) 45°
(D) 60°

SPACE FOR ROUGH WORK / 1% Frd & o s
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47.

48.

49.

In the circuit shown in figure, the current
in AB:

40 A 30
‘_, e ‘ ’\/\f\\, |
B | H
L AAA~ VAN
‘ 30 B 40 ‘
|
25V

(A) does not flow
B) flows from A to B

flows from B to A

e
@)
~—

D) none of these

The temperature on Celsius scale is
25°C.  What is the corresponding
temperature on the Fahrenheit scale ?

(A) 40°F
(B) 77°F
(C) 50°F
(D) 45°F

Moment of inertia of a disc about its own
axis is I. Its moment of inertia about a
tangential axis in its plane is :

&) 31
®) 31

3
© 31
D) 21

47.

48.

49.

yefdfa foa @, AB H ury enft :

40 A 30
VA~ AVAVAY

AN~
‘ 30 B 40 |
1
25V
(A) Yarfea & gl

(B) AW B! IR yerfEd B &
(C) B YA ! R yarfeq gran &
(D) v H i e

AT TaM | 25°C AI9HH 9@ ST §
TR T o 9 TG aT9HH B

(A) 40°F
(B) 77°F
(C) 50°F
(D) 45°F

TRl i TR 3787 T URE: e e I ¥
T O W TIRiean 318l o Ufid: weRdl ST

TS ST BT
& 21
(B) 31
© 31
D) 21
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50.

51.

A capacitor of capacitance C is charged
to a potential difference V from a cell and
then disconnected from it. A charge + Q
is now given to its positive plate. The p.d.

across the capacitor is now :

(A) vV
Q
(B) V+—C—

Q
< Vv +'2C

Q
® V-¢

A spring elongates by 20 cm when a body
is suspended from a point. If the body is
slightly stretched and made to oscillate,
its time period will be :

2%

@A) 550

ol
(B)  Jogo
© 7

D) -

50.

51.

C ufar % duii i ¥4 51V favaiat
5 ST =Y el 9 e Y e S
3| o9 TH% HAEHE WiE W +Q GICHEE
gt ¥ e favaia 8

(a) Vv

Q
® V+o

Q
@ V+o5

Q
® V¢

wm@mmammw
e & 20 AT, F g A T B AR
ﬁuaﬁeﬁgr"@?am?ﬁmmaﬁa‘rm
W'@F’H:

2
(&) 950
2
®) Jos0
217
© 7
2
O) -
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52.

53.

A given length of wire can be bent to 52.

form a circle or a square of single turn
and a current may be established in it.
The ratio of magnetic field at the centre
of circle to that at the centre of square is :

2

T
A —_—
(A) 802
5 42
(B) 2
C T
© 25
(D) 1
A small source of sound moves on a circle, 53.

as shown in fig. and an observer is sitting
at O. Letn;, n, and n, be the frequencies

7o oo % AR # Higw TH W Hw ogw
31ere &1 oY STt | Hree SEY U wenfea
1S T FA H BeE WA AR &5
A o % FE W GaHA & H U
qT

’TT2
(A) NG
42
®
© 375
(D) 1
&A1 U BT S FaTER FAFR 98 T

T #R @R T O W Y& e 1 afe
fog A, B9 C W ¥id g1 3 ety &

heard when the source is at A, B and C C‘Hﬁfﬁ % J&TH Ny, Ny, T ng G 91 B
respectively. Then :
B B,
77N N
S —— , [ S w
O \ / O
\/ .
A A
(A) n;>n,>n, (A) n;>n,>n,
(B) n;=n,>n, (B) n;=n,>n,
(©) ny,>nz>n; (©) n,>ng>n,
(D) n;>nz>n, (D) n;>n3>n,
* SPACE FOR ROUGH WORK / T% &1 & fo& smig
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54.

55.

When an ideal diatomic gas is heated at 54.

constant pressure, then the fraction of
heat energy which is used to increase the
internal energy of the gas, is :

4 2
(A) 7

3
®) 3
o 2
© =
o 2
D) 3

55.

C

A

o= [o>
Ny <
S 7?
X 7
A
/—wmww—\

The effective resistance between

AandB:
(A) 120 Q
(B) 36 Q
© 320

(D) 200 O

B T W ey fewivas® i w1 S
2 TR S Sl T TeRel M SH! STARE

ol R W T AR ?
3
(A) 7
3
B) 3
5
© 3
2
O 3
A
Se %%
S 2

A G B % ofre g Sl A g

(A) 120 0
(B) 36 Q
C 320

(D) 200 Q
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0821/BE-SC/PP-M 25

Set - A




56. In a plano-convex lens, the radius of  56. T UHAIA ¥ & ST Y53 i Fshall T2
curvature of convex surface is 10 cm and 10.cm ¥ 91 &9 HI wEHA T 30 cm ®
the focal length of the lens is 30 cm. The REERCCEIRCERE G-I l
refractive index of the material of the lens 3
will be :
(A) 1.5 (A) 1.5
(B) 1.66 (B) 1.66 {
() 1.33 © 133
D) 11 (D) 1.1
57. The ratio of depressions of the two beams 57. ol fguwe 9w & faw, T <=i =1 STEAE
of same area of cross sections, but one of AR &1 BN, SEfh 39 STAES FHIe
square-section and the other of circular A THEAE ¥ W Th & T3 iR
section, for a given load is : 3R §Fﬁ 1 JTRR %, A HifTT |
(A) 9:m (A) 9:@
B 4:m B) 4:m
Q) 3:m © 3:w
(D) 16: 7 (D) 16:w
58. The intensity ratio for the two interfering ~ 58. YT &1 S AR a7 T dlorarsti 1
Lmax — Imi
beam of light is 8. What is-the-value-of S e S 3
max nuin
Imax ~ Imin 5
Irmalx +Imin !
(A) 2B (A) 2B
B —ZJE B _2\/6
(B) 1+B (B) 1+
2 2
©  15g © 158
s 1+g
(D) 2B (D) 2B
SPACE FOR ROUGH WORK / 1% &1d & fol smig
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59.

60.

Twelve wires, each of resistance R, are
joined to form a cube. The equivalent
resistance between the ends of a face

diagonal.

(A)

(B)

© 5

3R

Oy

Determine the wavelength of light emitted
when a hydrogen atom makes a transition
from n=6 to the n=2 energy level
according to Bohr model.

(A) 420 nm
(B) 430 nm
(©) 410 nm

(D) 400 nm

59.

60.

gu TR R % aNE AR 1 SIgHT 3 H

ST FoaR & STt ¥1 5 F Th T8 H
farepol & fodi & w7 god W 8

|

o=

(B)

©)

m;ﬁaﬁr&ﬁwmmaﬁma@m
T SR HIEH % AR S W on=6 H
n=2 T e H

(A) 420 nm

(B) 430 nm
©

(D)

4710 nm

400 nm

SPACE FOR ROUGH WORK / 1% &Td & fodl w7
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Seco‘ndv Part
CHEMISTRY

61. Which of the following oxides of Cr is
" 'amphoteric ?

(A) CrO
(B) CrO;
(C) Cr,04
(D) CrO,

- 62,0 Match List I with List II and select the

correct answer using following code :

List I - ListII

(a) Calcination (@ P,+50, - 2P,04

(b) Roasting (i) FeyO;+3CO
— 2Fe +3CO,

(9 Leaching @iii) 2Cu,0+Cu,S
—A ,6Cu+S0,

(d)— Smelting———(iv)— CuCO5Cu(OH),
—2CuO+ CO, +
H,0

(¢) Auto-reduction (v) NaAlO,+2H,0

: — NaOH + AI(OH),

Code :

@ ® (9 @ (¢
(4) @ @ (v @@ @)
B &) @O () @
© @) @ @ ) @
D) (v @) @) @ @

61.

62.

(a)

(b)

©)

(e)

fedta v
& 9IS

Cr (wifim) & fma sifeRe o €59 O
WY 2

(A) Cro
(B) CrOs
(©)  Cry04
(D) CrO,
e 1 g2 11§ gafem # e #e =)
FEI ¥ W S A IR
e 1 T 11
[RISIRE] (i) P,+50, - 2P,0O
SR (i) Fe,0,+3CO
— 2Fe +3CO,
Sitfem (iii) 2Cu,0+Cu,S
A 6Cu+S0,
PUE] (iv) CuCO,4Cu(OHj),
—2CuO+ CO,+
H,0

T ST (v) NaAlO, +2H,0
> NaOH + AI(OH),

e :

@ () ( (@ (¢
(4 O @ (v @ @)
B @) O & @ G
© Gv) @) @ @ 0
D) W @) @) G@ @
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63.

64.

65.

Which statement is false regarding
—COOH group ?

(A) The dehydration of this group isnot

possible

When present in benzene ring, the

(B)

acid nature increases
(C) Itis meta directing
(D)

Tt can be destroyed by sodalime

The energy difference between the ground

state of an atom and its excited state is

3%x10~19 . The wavelength of photon -

for this transition is :
(A)
(B)
©)
(D)

6.6X1073# m
3x1078% m
18x10"7 m

6.6x10"7 m

Consider the equation :
O +€ — Oy AH® = ~140 KJmol !
This indicates that :

(A)

element

Oxygen is having high electron
affinity

(B)

©)

O(g) is stable species

(D) Ofg) is unstable species

Oxygen is an electronegative

63.

64.

(D)

— COOH §Hg % et § Shial % 3T
®7.

(A) 9 e 1 el W T ¥

st o & Safter T T iy T
ECSIRd

e Her 3 7
& ey A & e fE S W R

(B)

©)
(D)

T TRAY] ¥ 37 SR AUl S STEen
¥ Te Sl 1 AR 3 X 10710 J¥1 HRAN
1 seafsla W i aURE ¥

(A) 6.6x10~% m
©)

3x1078 m
1.8x1077 m
66x10"7 m

65, weCer T fo

O +e — O AH® = —140 kJmol ™}

g g9 § T

(A) sifisH T fagd ol 7 R

(B) e i TR SYw A §

(C) Ol Tl Fomft ¥

(D) O FTeurl FIRd B

SPACE FOR ROUGH WORK / T &d & fod g
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66.

67.

68.

Assertion : Benzene gives chlorobenzene 66.

when reacted with acetyl
chloride.

Chlorination of benzene is an
electrophilic substitution.

Reason :

(A) Assertion and Reason, both are
true and Reason is correct

explanation of Assertion.

(B) Assertion is correct while Reason

is false.
(C) Assertionis false but Reason is true.

(D) Assertion and Reason both are

false, but Reason is correct

explanation of Assertion.

The equilibrium constant for a reaction 67.

is 10, the value of AG® at 300 K will be :
(A) —-574k]

By =574 k]

(C) +11.58 k]

(D) +574%]

Which is expected to be paramagnetic ? 68.

(A) Ni(CO),

(B) [Zn(NH,)J>*
(©  [Co(NHy)e)**
(D) [Ni(H,0)]2+

o wfafen FoREe ¥ ifamd
e T ®, < SfsiH, Seriesie
AT

oS T FARIRT Th
TR faeeTE #

(A) YT TS HIUT S T § q1 SRIT,
HA HT TR TIRH ¢

hgT :

<h[UT :

(B) YU WEl § Salh ST 7T |

(C) HYT A ¢ fohg wROT I

(D) YT T HIOT, T 9 ¥, e oft
THIUT, RAT T TE TR B |

& sfuafea & ol ar ferds 10 &,
300 K T AG® &1 |9 &I :

(A) ~574K]
(B) —574 K]
(C) +11.58 KJ
(D) +5.74 K

I G SR & Tehell & 2
(A) Ni(CO),

(B) [Zn(NH,),J**

(©) [Co(N H3)6]3 *

(D) INi(H,0)6]**

SPACE FOR ROUGH WORK / 1% &T& o fod wg
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H769.

71.

©

(D) Potassium hexa cyario ferrate (II)

Reason :

JUPAC name of K Fe(CN); is :
‘&7 (A)  Tetra potassium Ferrous cyanide

(B) Potassium Ferricyanide
Potassium Ferrocyanide

. i Assertion : Increase in surface area

increases the rate of
evaporation.

More the surface area less is
the intermolecular

attraction.

“Which is correct ?
. *(A) Boththe Assertion and Reason are

_true and the Reason is the correct
explanation of assertion.
(B) Both the Assertion and Reason are

true but the Reason is not the

correct explanation of Assertion.

(C) Assertion is true but the Reason is

false.
(D) Assertion is false but Reason is

correct.

Among the following which one is

mismatched ?

(A) Saponification of ester - second
order reaction

(B) Hydrolysis of ester catalysed by
Ht - Pseudo first order reaction

(C) Reaction between Ferric chloride
and stannous chloride - Zero order
reaction

(D) Decomposition of hydrogen

peroxide - First order reaction

69.

70.

71.

K Fe(CN), 1 IJUPAC T4 ¢ :

(A) g deEREm W wETEs
(B) R HEEES

(C) tiefrem WHEEES

(D) i g wE B (1)

FOT: TS 5 SR g § A off
e

HEUT: TS 1 Gkt o sifers g,
AT Y e AT STHYO hH
2

I T HE 7

(A) T TS THIRUT A Te §, AR T,

U H T TR T

(B) e Te sRIuT ST e €, fehg ST,
HYT T TE TILH 7 T

(C) HATTE, fobg HTTOT T B 1

(D) e e ¥, g e W T

i ¥ Te B Tk GAf @ 82

(A) TR 1w - {5l Hife
sAfvfsran

(B) 'H* B SN TX H AT -
sl verw ife sifufshan

(©) i FANES T T FEE F
wey aifufsean - ¥ Hife arfufear

(D) TEISH WAFES I fome - 9aH
wife satufsran
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72. Which statement are correct ? 72. G HYT WE R ?
(i)  Limetal formno solid tri-lodide and () Liurg, 319 1T ATATES o
superoxide HRSATFIRES &l o
(i) 2NaNO;_A_,2NaNO,+0, (i) 2NaNO;_2 ,2NaNO,+O,
reaction is wrong EENCSRER RIS
(i) BH, and BeCl, form polymer in (iliy BH, 3R BeCl, 39 s H wgash
solid state IH BT
(iv) SFg+6H,0—6HF +HSO, (iv) SFg+6H,0—6HF +HS0,
(A) (), (i), () (&) (@), (i), (iv)
(B) (@), (@), @) (B) (D), (i), (v)
(©) (), @), (i), (iv) ©) @), @), (i), (iv)
(D) (@), (i), (i) (D) (), (i), (iid)
73. Select correct choice : 73. el foaehea 94 .
(A) Magnalium contains maximum (A) Ffeem ¥ Sifiey gaifus gfia
percent of Mg g
(B) Dental alloy does not contain tin (B) < TEE H feT T §)
(C) Invar has high coefficient of (C) SaR = YER T[0T A4 &
expansion
(D) Constanan contains 40% nickel (D) e H et 40% T1
74. If the % of uracil in a double stranded ~ 74. 3fg ST H+E8 RNA 17 H 30% Jfaa &
RNA molecule is 30% the % of cytosine A WA % TR :
is:
(A) 10% (A) 10%
(B) 20% (B) 20%
(C) 40% (C) 40%
(D) 60% (D) 60%
SPACE FOR ROUGH WORK / % &% &% f&d e
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75.

76.

77. Iso
" 'methyl formate is :

@)

Consider the following statements :

(i) La(OH); is least basic among
hydroxides of lanthanides.

Zr** and Hf** posses almost same

()

ionic radius.

Ce*+can act as an oxidising agent.

Correct statements are :
(A)
(B) (i) and (iii)

t

(i) and (i)

©
(D) (i) and (ii)

(i) only

When glycerol is reacted with PX,, one
of the byproduct is X,. The PX; must
be:

Pl
PBry
PCl,
PF,

vv‘Isl(”)‘n‘ierism exhibited by acetic acid and

(A)
(B)
©)
(D)

Functional
Chain
Geometrical

Optical

75.

76.

77.

e oAl W e =i -
() oraTEEl ¥ eeglaEel % W
La(OH), To& %7 &1 7|

Zyd+ wE HA + & it B ame
A B

Cet+ Sffadiid & &1 § w3
Gl B

TEH FH T

(A) () T (idd)
(B) (i) W (i)
(©) Faa (i)
(D) () W (i)

(i)

()

et frerertal F PX, W Sifipa fFan S §,
A T =T S A T X, TN PXg B
ey :

Pl
PBr,
PCl,
PF,

wfafes o wa Afye wide g yefkia
[HEIE ©

IERIED
(B) sf@en
(C) SefHe
(D) FREE

(&)
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78. The rate constant of a reaction is 78.

1.2 x10~2 mol~2 litre? sec . The order
of reaction is :

(A) 1
(B) zero
© 2
(D) 3

79. The age of most ancient geological  79.

formation is estimated by :

(A) Carbon - 14 dating method
(B) Potassium - argon method
(C) Uranium - lead method
(D) Radium - radon method

80. Strongest acid among the following is : 80.

(A)  ALO,
(B Nay©
(€) CaO
(D) MgO

81. Transition elements are less reactive 81.

because of :

(A) High ionisation energy

(B) High heat of vapourisation
(C) Less heat of hydration of ions

(D) All are correct

ww  afufsar w1 ;| ferls
12 x10~2 W2 faer-—29%s-1 §, @

(A) 1
(B) T3
©) 2
D) 3

Fifq =i ogmsita frmior 1 o1 &7 srwem
IERIEC Ik

(A) e - 14 Sfén fafy |
(B) R - ety fafy @
(C) Jfrm- e fafu |
(D) Yeam-=r fafu 9

Fretifera § | yeeray o7 €
(A) ALO;

(B) Na,O

(C) CaO

(D) MgO

HehHUl dcll i 319 TRFIdT T HROT S

(A) I ET HA

(B) S ATSHA ST

(C) Sl ol 37T FASTa Ho
(D) et wdt €

SPACE FOR ROUGH WORK / 1% & & & g
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82.

83.

84.

85.

A compounds contains 38% C,
16% H and 45.2% N. The formula of the
compound would be :

(A) C,H,CN
(B) CH,NH,
(C) CH,N

(D) CH,(NH,),

Half life of a first order reaction is
69.3 min, the time required for 99.9%
completion is approximately :

(A) 6.93 min
(B) 69.3 min
(C) 693 min
(D) 6930 min

An electron is excited in hydrogen atom
falls from fifth energy level to second
energy level, the region of spectrum and
spectral line observed are :

(A) Visible - Balmer

(B) Ultraviolet - Lyman
(C) Infrared - Paschen
(D) Infrared - Brackett

Total no. of isomers in C;HgO :
(A) 2

(B) 3
© 4
(D) 5

82.

83.

84.

85.

@aﬁfwﬁ 38% C, 16% H T41 45.2% N
3ufkerd €1 TR &1 I BT

(A) C,H.CN
(B) CH,NH,
(C) CH,N

(D) CH,(NH,),

T v Fife w1 G & o o oy e
69.3 fafe ¥, 99.9% foran quf 2 & & 9=
g

(A) 6.93 fufe

(B) 69.3 fufte

(C) 693 fufe

(D) 6930 fafTe

TSI THIY S T S s diee
SR | TR FSER T HHAO A |
SutsHH T &1 a1 FUiHH Y@ hE: ¥

(A) T - T
(B) ST - A
(C) TeRE - WI¥=A
(D) 3TaRE - Fehe

C,H,O & Fa qemeriedi ® §e :
(A) 2

(B) 3
© 4
O 5

SPACE FOR ROUGH WORK / T &g & for&d e
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86. Identify (R) in the following : 86.

Na,COj

acetylene _HBr , (p) HOH, () :
2

(R)

(A) GCHiI

(B) C,H;OH
(C) CH,;CHO
(D) None

87. Propanone has higher boiling point than ~ 87.

that of propanal. because :
(A) Propanone is non-polar

(B) The dipole moment of propanone
is 2.88 D

(C) Propanone is ionic in nature

(D) —I effect in propanone

88. In a sample of radioactive material, what 88.

Frefafad § (R) & 9g=m &L

wEifeets HBr, (p) HOH, () 203,
2

(A) C,H.l
(B) C,H,OH
(C) CH,CHO
(D) =18 &

T w1 F9YAE g 9 sy €
ES1E

(A) WA sydE §
(B) UIGH =1 fgye el 2.88 D ®

(C) MR =t g sl ?
(D) AR ~1 396

e feditfaes Tma & g Y FA &

fraction of the inittal-number of -active

SE-TF % e oea gfaaes s yRkfyss

nuclei will remain undisintegrated after A 1 fopa o9 Afaafveg 99 war
half of a half life of the sample :

1 1
A 7 A7

1 1

® 375 ® 2%

1 1
© 5 © 7
o 1 o1
D) 3 @ 3

SPACE FOR ROUGH WORK / 1% &9 & fed g
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89. Which polymer is used as Adhesive ? 89. frg wgar® o1 soaw fawer # fepan S

77
(A) PVC and Buna-S (A) T T - T
(B) - Nylon-6 and Nylon-6,6 (B) -6 T 6,6
(C) PMA and PMMA (C) RHYEAWET
(D) Poly pyrrole and Poly aniline (D) dielt el we el TfE

90. Correct order of acidic character of the 90, 3Tl I E wH = o B

following :

COOH COOH cooH COOH %’OOH COOH COOH COOH
Py ,,J\(/Noz > _,,,}-H ! A NGy A i
© ©F © © 0 ©f ©1 ©

- TN N e TN ~-
NO, | NO, |
NO, NO,
® (i) (1) (iv) @ (i) (iif) (iv)
(A) (@) > @dv) > (i) > @ (A) (i) > (iv) > (iif) > ()
(B) ()< (@v) <) <@ (B) (i) < () < (i) < ()
() (v) > (i) > (iid) > (@) Q) (iv) > (@) > (iif) > @)
(D)  (iti) > (ii) > (iv) > (i) (D) (iii) > (iD) > (v) > ()
91. Consider following reaction : 91. =t fren W fa=m wifsd
I+ HSy) = 2HL ) +5 L+HyS5 — 2HI g +5
AG® (HI)=1.8 kjmol ™~ 1 AG®; (HI)=1.8 kJmol ™ 1
AG%; (H,S)=33.8 kJmol ~* AG®; (H,5)=3338 kJmol 1
The nature of reaction is : foran Y wafa B
(A) Non-spontaneous in forward (A) srufewn | @ TE
direction
(B) Spontaneous in forward direction (B) smfeen ¥ @
(C) Spontaneous in backward direction (©) ey fowm #
(D) Non-spontaneous in both forward (D) WaA weta 21 femedl # @@ 7l

and backward direction
SPACE FOR ROUGH WORK / T% &Td & fo&r sie
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92. The Pk, of weak acid HA is 4.8 and the ~ 92. To& 37 HA &1 Pk, 4.8 ¥ 7o gl &R
Pk, of weak base BOH is 4.78. The pH of BOH &1 Pk, 4.78' 1 a9 BA & Weil
aqueous solution of the corresponding ferere =1 pH BT -
salt BA will be :

(A) 8.58 (A) 8.58
(B) 4.79 (B) 4.79
(C 7.01 (C) 7.01
(D) 9.23 (D) 9.23

93. The solubility of diethyl ether in water is 93. TrRUfYR R Elﬁ 5o o faeraa frges wy
comparable with that of : qeE § 2
(A) ethanamine (A) TN
(B) chlorobutane (B) FARIA
(C) 1-butanol (C) 1-gTd
(D) ethanol (D) WA

94. Which is/are mismatched ? 94. e ¥ %17 @/ gufaa T& ¥
(i)  Diamagnetic - V,O. @ — = V05—

(i) Antiferromagnetic - CrO, (i) TOAHEIRRE - CrO,
(i) Ferroelectric material - PbZrO, (i) EoIagS qqTd - PbZ1O,
(iv) Piezoelectric solid - Quartz (iv) TSiEeifoes 3 - Fs
(v)  Ferrimagnetic - Fe,O, ) HITEHE - Fe,O,4
(A) Q) (i), ) (A) @), ), (i)
B) (i), (i), (v) B) (i), (i), (v)
(©) (), (i), @) (©) (i), (i), (iv)
(D) (i), (iv), (v) (D) (i), (iv), (v)
SPACE FOR ROUGH WORK / T% &1 % ford sTe
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95. !

96.

97.

"“On passing CrO,Cl, in water and then  95.
’ "addmg (CH,COO),Pb, the precipitate

formed is :

(&)
(B)
©
(D)

““Which

PbCl,
CrCl,
PbCrO,

None

statement is

Cannizzaro Reaction ?

(A)

(B)

C H;COCOC H;, CHO,

!

CHO
(CH,),CHCHO, p-nitro
benzaldehyde perform reaction

It is first order in aldehyde and

second order in base

(C)~ Reaction is third order kinetic

(D)

To prepare phenol from halobenzene, 97.

H ™ shift reaction

which process is useless ?

(A)
(B)
(©

®

Grignard
Raschig
Dow

Schiff

wrong with 96.

Cro,Cl, ® W& W faar & 0
(CH,COO),Pb e &, STy sef ¥ -

(A)
(B) CrCl,

PbCl,

(C) PbCrO,
(D) . &

e fufrm % fou SR s Ted
272

(A) CH,COCOCH;, CHO,

I
CHO

(CH,),CHCHO, p-nitro
benzaldehyde Tfufsran =Tl g1

(B) ¥ yom ife Afesese w fafw wif
R fwan €1

(€)% giaa wife wrfes o €
H - wfaeard) frm g1

S Q e ww w % A S
fafy et 872

(A) T

(B) few

(C) =3

(D) %

SPACE FOR ROUGH WORK / T @i & fordl s°Tg
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98. Which statements is wrong ? 98. I T A TeTd § ?

(i) SnCl,, BF; and TiCl; used as (@)
catalyst in ionic polymerization

(i) Conc. H,S0,is used in HDPE (High (ii)
Density Polyethylene)

(iti) Viscosity KMy (i)

(iv) Poly (benzyl-L-glutamate) is Liquid (iv)
Crystal Polymer

A @ (A)
B) (i), (v) ®)
© (@), () Q)
(D) (i), (i) D)

At ageleh fvan ¥ SaRE &
&9 # SnCl,, BF, T TiCl, 1 3741
Bk

Aferer et aiedt Tireti= 9 |ig H,S0,
T ST fepan S 1

W= KMo

qiedt (afia -L-Teeme) g9 free
TEAF T

(i)

(i), (iv)
(i), (i)
(i), (ii)

99. Correct order of stability  of 99. N,, N;r, NE et Ng_ ¥ T F e

N, >Nj =N, >N3~
+ N 2-

N, >Nj >N, >Nj5~

NZ,N;,NEand Ng__ is : FHT
(A) Ny >Nj =N; >N3~ (A)
(B) N; >N, >N, >Nj3~ (B)
(©) N; >Nj >N, >N3~ ()
(D) N;” >N; =N; >N, (D)

2— -t

SPACE FOR ROUGH WORK / T% &g & o3 svig
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100.

101.

102.

Microcosmic salt (Crystals) is :

(A) Na(NH)HPO,
(B) CoNaPOy
(C) Na,BeO,.H,0O
(D) None of these
The E° of four elements are
A=-0.250V

=-0.136 V
C=-0.126V
D=-0402V

‘A’ will be displaced from its compound
by which element ?

(a) D

B C

€ B

(D) None

Assertion ¢ The ionisation energy of
N is greater than C as
well as oxygen.

Reason : Nitrogen oxides are

non-ionic compounds.
(A) The Assertion is false but Reason
is true.

(B) The Assertion and Reason, both
are false.

(C) The Assertion is true but Reason is
false. ,

(D) Both Assertion and Reason are
true but Reason is not the correct

answer of Assertion.

100.

101.

102.

Hreeh! e e T €
(A) Na(NH,)HPO,

(B) CoNaPO,

(C) NayBeO,.H,0

(D) T & =8 T

= et % B P ER €
A=-0250V
B=— 0136V
'=—-0.126 V
=— 0402V |
A 3 Adfrt @ fra aa g Taeenfua
B ?

(A) D

B C

© B

(D) g &

WO IS ) ST Sl e qedl
it § o1 T

HROT:  AE2ISE % eaze AAfTE
Hifirer & 81
(A) T T ¥ g HOT W €1

(B) HU T3 SO, T e € |

(C) e T ¥, Tebg 0T e €

HYF @ HEOT SHI TE 8, Tehg ST,
YA F T S T 8

(D)

SPACE FOR ROUGH WORK / T &Td & fordl e
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103. Consider following reaction :

Fe3*(aq) + 30H™ (aq) = Fe(OH),(s)

103.

e fran W forar 1Ry
Fe** (ag) + 30H (aq) = Fe(OH)4(s)

The expression for K__ is : K. % o =t ©
[Fe(OH)5] [Fe(OH)s |
(A) Ke= —gr——rsy (A) Ke=—ar——"7
[Fe” ] [OH] [Fe”"][OH™]
® K= e ® K - [FeOHs]
¢ [Fe®*]3[OH] ¢ [Fe®*]3[OH]
, 1 1
Q) Ke= —r - Q) Ke=—p =
@ * [Fe®*][OH ] © % [Fe>* ] [OH P
(D) K.=[Fe(OH),] (D) K.=[Fe(OH)3]
104. CsCl crystallizes in bee lattice if “a’ is its 104. CsCl, bee STes & 3T=Rid fpeeelisg BT B
edge length, then correct expression is : I ‘2’ 3 FHR AR & @ T = §
_ av3 __— _av3
(A) ot =5 (A) Toet i T
(B) Iogr +ig- =av3 (B) Iogr Tig- =av3
© rogr trg- =3a (©) fogt tT- =3a
: 3a 3a
(D) Togr Tig- =5 (D) o+ Fig- =
105. Which set of oxides are amphoteric ? 105. 3{IFEIZE 1 T W THE SHILH 3 ?
(B) TIO, GeO,, Pb,0O,4 (B) TIO, GeO,, Pb,O,
(C) NiO, Fe, 0, ZnO (C) NiO, Fe,0,, ZnO
(D) In,O,, GeO, MnO, (D) ‘In203, GeO, MnO,
SPACE FOR ROUGH WORK / 1% &t & f&d sme
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106. Which is not a m-bounded complex ? 106. HF T 7-59 g J&I g3 el TE ©?

‘(A) Zeise's salt (A) S8 e
(B) Tetraethyl lead (B) RIS
(C) Ferrocene © T
(D) Dibenzéne chromium (D) TR ®ifHaH
107. The product - is obtained when a 107. IR ‘| W B ® S T foran &1k
reactant is treated with Na/ether. Na/ether & Ty AfFd fhar S ]
The reactant must be : foran ek B =eT :
(A) 3, chloro hydroxy cyclobutane (A) 3 FAR %133\!‘3@ "6[133@3*{2?
(B) 1,3 amydroxy butane | B 1,3 SRR A
(C) 1, 3 dichloro cyclobutane <o 1,3 'é'l?ﬂ?ﬁff HEFAH A
(D) 1 bromo 2 chloro butane. Dy 1 S 2 FAR YA

'108. A galvanic cell is set up from a Zinc plate ~ 108. 50 7T 5% W2 91 TH HIeR HW Toh

~ weighing 50 g and a litre of one molar % Th sitex forera @GR fen T et
copper sulphate solution. It delivers a ¥ 1.0 A % feer fog@ ow < @, a8
steady current of 1.0 A. How long it will fera™ THE T = ?
run ?
(A) 21 hrs (A) . 21 =
(B) 48 hrs (B) 48 e
(C) 315 hrs (C) 315
(D) 325 hrs (D) 325 ®e

SPACE FOR ROUGH WORK / T rd % fordl sig
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109. ‘The shape of water molecule is distorted 109. SIS % 3T I Hf ﬁ'@'_vl SReTh YT
tetrahedral shape or bent with a bond FTE2] I 104° 50' ¥, THHT SR & :
angle of 104° 50, the reason for this is :

(A} Ip-lp repulsion is more than Ip-bp (A)  lp-lp Taemd ol Ip-bp fordor @ stfer
repulsion BT
(B) Ip-Ip repulsion is less than lp-bp (B)  Ip-lp fesmeiw 1p-bp faemdw & &9 San
repulsion B
(C) Ip-lp repulsion is equal to Ip-bp (C)  Ip-lp Tordu1 1p-bp fowtor & qer B
repulsion T
(D) Presence of lone pair does not affect (D) AR & THA I &t sufeafa 9
the bond angle e 0 T HIE YHE 7E ST
COFz + BI'Z COFZ + BI’Z
[ a7 [a]
110. yellow element - Durn »B + C i T1 T I *F—Mﬂ B+ C
(A) in steam of Fy T (A) T A
5,Cly+Naf, A 5,Cly+NaF, A|
What are A,B and C ? ABUTECE:
(A) S, SF, SF, (A) S, SF,, SFg
(B) S, SF,, SE4 (B) S, SF,, SF,
(C) S, 5,Cl,, S,Br, (C) S, S,Cl,, S,Br,
(D) S, SO;,, SBry, (D) S, SO;, SBry
SPACE FOR ROUGH WORK / % &¥ & fed wrme
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111. Best fuel for a car-engine is petrol with : 111. T FR S5 ¥ foau S99 ‘?I‘;.;IFT g ooy .

(A) 60% gasoline (A) 60% TEIEAH
(B) 73% cyclohexane (B) 73% HIEFARRA
(C) 89% isooctane (C) 89% STHIHTFRA
(D) 93% n-heptane (D) 93% n-8LA

112. The end product (C) of the following  112. e arffemen o eifam TR (C) BT

sequence of reaction :

H,O H+ /Hg2+ H,O H+/Hg2t
l LiAlH, l LiAlH,
(A) C,H;OH (A) C,H;OH
(B) CH3 - (I:H - CH3 (B) CH3 —CH- CH3
‘ |

OH OH
(C) CH,CHO (C) CH,CHO
(D) CH,=CH, (D) CH,=CH,

SPACE FOR ROUGH WORK / 1% &Td & ford <1
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113. Which statements are right ? 113. FH M HFA TR E?

i) Glucose give one mol formic acid (i)  TERE HIO, B/ e HE T 1
with HIO, degradation Reaction 310 FHE ST W T

(i) Yeast containing Phenylalanine (i) W H Hier tamed A-sM W T
tRNA BRIE

(i) ATP—ADP AGY= +31 k] (i) TAH - T RAGY= +31K]

(iv) Proline give carbylamine test (iv) WSS SfsaaHET qaem < §)

A @), (i) (A) @), ()

(B) (i), (iv) (B) (i), (iv)

© @ @) ©) @ @)

(D) @, @) (D) @), @)

114. Which is correct option ? 114. @& g aR W R?

(A) NCl, cannot be hydrolysed (A) NCl, %1 9@ 2195 T&i & Fehal

(B)  PF, cannot be hydrolysed (B) PF, 1 5 T8 H@ ERsET

(C) NF, cannot be hydrolysed (C) NF, %l 5 3TT9A T8l & "ehell

(D) B and C are correct (D) BAuCIHl W&t §

115. For a first order reaction, the time taken 115. 999 whife =t fvar & forg 99.9% awﬁqm
for completion of 99.9% of the reaction is Ui 8§ o 99 e S SRer 2
equal about :

(A) 10XTy, (A) 10XT,,
(B) 8xT,, (B) 8xTy,
(C) 9xT, (C) 9xT,,
(D) 12xT,, (D) 12xT,,
SPACE FOR ROUGH WORK / 1% &8 & o svig
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116.

117.

Which statement is correct ?

i I the AG is negative then reduction

reaction is not possible

(i) AG=—-RTIK explain Ellingham

diagram

2 4

3 ALO; + 2Mg — 2MgO+ 5 Al is
correct reaction

Ellingham diagram can explain the

(iv)

reaction is faster or slower
(A) @
(B) (i) (ifd), (iv)
©) (@), (i), ()
(D) (i), (iii)

Which of the following compounds has
isopropyl group ?

(A) 2-methyl pentane
(B) 2,23 3-tetramethyl pentane

(C) 2, 2-dimethyl pentane

(D) 2, 2, 3-trimethyl pentane

116.

117.

TR W R ER §?

() e AGFOTETE & T TRt AT
T Bt

(i) AG=—RTInK ¥ 11 Teiem @
ekl S 2|

2 4
3 AlLOy+2Mg — 2MgO + 7 Al
o Tl B

e okE 9 fRe e @ S W
e = |

(iv)

A ()

®) () (@ @)
© () @) i)
(D) (), (i)

frer B @ Tn ST H eTREEIES R
IufEerd 2

(A)  2-HiHATT
(B) 2,2, 3, - gt
(C) 2, 2-SEHTEEIRA

(D) 2, 2, 3-ZEAMFEE=A

SPACE FOR ROUGH WORK / T & & s W
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118.

119.

120.

©)

Thermal stability of BaCO,, CaCO, and
MgCO, is :

(A) CaCOz3>MgCO;>BaCO4
(B) MgCO;>CaCO,>BaCO;,
(C) BaCO;>MgCO;>CaCO;,

BaCO, > CaCO, > MgCO,

The fraction of chlorine precipitated by
AgNO; solution from [Cu(NH,;);CI]CL,

1S

@ 2

(B)

[SSRIY

> =

©)

P | =

(D)

E =034V

0
Cu*/Cu If the reduction

potential at pH =14 for the Cu?*/Cu

118.

119.

120.

BaCO,, CaCO, Td MgCO, %1 qT4H
TR §

(A) CaCO,>MgCO,>BaCO,
(B) MgCO,>CaCO,>BaCO,
(©)
(D) BaCO,>CaCO,>MgCO,

BaCO;>MgCO;>CaCO;4

[Cu(NH,)sCIICL, & AgNO, & gRI =
1 foha 9FT STadifa wrm 2

(A)

WiN

(B)

Q| ==

©

N

O 5

O

K, 1.0x1071 ¥ fpH =14 WCu?* /Cu

couples K, of Cu(OH),=1.0x10~1, RICEIRCEEREREEC AU
(A) -022V (A) —-0.22V
(B) -22V (B) -22V
(C) -037V (C) -037V
(D) —0.80 V (D) -080V
SPACE FOR ROUGH WORK / T% @14 & ol g
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121.

122,

123.

Third Part
(A) MATHEMATICS

A man 1.6 meter high walks at the rate
of 30 meter/minute away from a lamp
which is 4 meter above the ground. How
fast does the man’s shadow lengthen ?

(A) 16 meter/minute
(B) 30 meter/minute
(C) 20 meter/minute

(D) None of the above

if the circles x2+12+px+3y—5=0 and
x2+y2+5x+py+7=0 cut each other
orthogonally then value of p will be :

(A)

i SR

.3
© 3
2

(D)

If [y] is greatest integer less than or equal
toy, then the function flx)= [x]?—[x?] is :

(A) Continuous at all integers, except 1
(B) Continuous at 1
(C) Continuous at 0

(D) None of the above

AT W
(31) o

121, UE e S 16 W SR, TH A Y T

St 4 w0 S, 30 whew wfa frre =t 7l @
e S aaEd SuE o fEe v ¥ w9e
wWe?

(A) 16 Hiy/ e
(®) 30 Hey/ e
(C) 20 eyt
(D) ST H | i

Cafg g% a2+y*+px+3y—-5=0 9

224y +5x+py+7=0 TEH HAKIT W
FEAE A p FIAME :

(A)

=N

(B)
(©)

(D)

N e

.aﬁ:’[y],yésawmy@@ﬁa,ma@g

quifes &, T e fly) =[x~ ] :

(A) 1 % grest aht quifer] T e ¥
(B) 1T A

(C) 0 R Fad 71

(D) e H & g

SPACE FOR ROUGH WORK / 1% &8 & fad o e
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124. The solution of (gzj (x2y3 + xy) =1 124. (gzj (x2y3 + xy) =1 HEAQ:
x

X

is :

2
2—y2+ce y{

R |

—1-—y2+e_%

=N

_2
©) 1+2x=y2+ce y{
x

(D) None of these

125. In a sequence of (4n+1) terms first
(2n+1)
progression whose commor. difference is
2, and the last (2n+1) terms are in GP
whose common ratio is 0.5. If the middle

terms of AP and GP are equal then the

terms are in Arithmetic

middle term of the sequence is :

n,2n+1
A —
2n g
n-(2n +1)"*1
(n +1)-n"*1
© o

2211__1

(D) None of the above

125.

)
B Lo2-y2sce 4

2|

1—y2+e_%

(B)

RN

2
©) 1+2x=y2che 2y
X

(D) T 9 *E Tl

Teh AgFH f9d (4n+1) 8 ® F5a% wear
(2n+1) T€ FHRR 47 § ¥ fSeht waf=r 2
g T S\ (2n+1) 9 UieR Sof F ¥
et waiqur 0.5 71 afE gawR 4o &R
UM 4ot % = 6 95 THE @ g9 St
o ST T g BT

n.2n+l

2" — 1

n-(2n +1)" !

(B) 22n -1

(2n +1)-n™*tT
22 g

(D) S9iE ¥ 9 *E T

©

SPACE FOR ROUGH WORK / 1% &Td & o sig
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126. L | sin? cot™? L= 211 s equalto: 126. 3 |sin® cot™ Lz xi) -
dx 1+ x dx 1+ x

a) -1 Aa) -1
1

B 3 ® 3
1 1

© 3 © —3

D) 1 D) 1

127. The angle of depression, from the top of  127. e HAR & = ¥ TF 10 HieR £ CCOR|

a Minar, of top and bottom of a 10 meter F e 3R UR % AT IV HHI:
high building are respectively 45° and 60° 45° A9 60° ¥ T TAR I éﬁfﬂ'&‘ 2
then the height of the Minar will be :
(A) 5(1+ J3) meter @) s(1+3)
(B) 5(2+3) meter B 5(2+3) T
(©)  5(3 + /3) meter © s5@B+3) ™
(D) 10+/3 meter (D) 1043 .
128. The sum 128. THIEH
B P+ 1P+2P+? B oPe2d P43
__.—+__.____-—+___,__________+--.. ___+___._. _..___._.___,.__._.}_.
1 1+3 1+3+ 5 1 1+3 1+3+ 5
upto 16 terms is : ¥ 16 T3] % 1 40 R :
(A) 246 (A) 246
(B) 446 (B) 446
(C) 646 (C) 646
(D) 746 (D) 746
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129.. The eccentricity of the curve represented:

129. HHIHTU 524 2y2— 25 + Sy +2=0 W

by the equation x2+2y2—2x +3y +2=0 TERiA =5 T Sehgar gl -
will be :
(4) 0 (A) 0
B) - B 1
® ® 3
B 1
© 7 © 7
D) V2 O 2
130. The lines x=ay+b, z=cy+d and ] i’@'lifx=ay+b,z=cy+d 11<_=fx=a'y+b‘,
x=a'y+b', z=c'y+d' are mutually z=c'y+d' TR T 2 9
perpendicular, if : .
(A) aa'+cc'=1 (A) aa'+cc'=1
(B) aa'tcc'=-1 (B) aa'+cc'=-1
(C) ac+a'c'=1 (C) ac+a'c'=1
(D) ac+a'c'=-1 (D) ac+a'c'=-1
131. The volume of a parallelepiped whose . T GHIT YTHeTH, ﬁl’ﬂiﬁ HR
A A AN A A A A AA AA
edges are 2i =3j +4k, i +2j -k 20 =3j +4k, i +2j -k @
andS/z}—-?+2;c\WiHbe: 3/1'\—?+22 %,EBTEF{W—@"]TI
(A) 5 cubic units (A) 5 ¥ THE
(B) 7 cubic units (B) 7 ¥ &R
(C) 9 cubic units (C©) 91 3R
(D) 11 cubic units (D) 11 =7 7o
SPACE FOR ROUGH WORK / 1% &Td & el g
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132, If the planes x=cy+bz, y=az+cx,

133.

134.

z=bx +ay meet at a line then :
(A) a+b+c=0

(B)
©
(D)

atb+c=1
aZ+b%2+c?=1

a2+bZ2+c2+4+2abc=1

If y = log i—%% then Ex¥=
(4) 1{%
® = (1- x)
© 1\/-5 X
-
D) "+

It CTA=3/1'\ +2? - ﬁ and

6§= /1\ +3? + 2 then the area of
AOAB will be :

J15

35

*

(&)

(B)

132, gfg §AdA x=cy+bz, ‘yﬁé.z+éi;

133.

134.

z=bx+ayﬁ$3€@1ﬁ‘}?lﬁﬁﬁr :
(A) at+b+c=0 .
(B) a+b+c=1

Q) a?+b?+c2=1

(D) a?+b?+c?+2abc=1 i

af y = log LHIE @ L=
® 75
| i
(B) Jr (1- %)
©) 1\{1-3—€x
v
O) " a+x

A
AR OA=37 +2] —k
| R |
OB=7 +37 + k a P14 OAB &
&YThel BI M :
J15
3.5

gﬁa

(8)
(B)
©

© %
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135.

136.

137.

A delegation of four students is to be
selected from a total of 12 students. In
how many ways can the delegation be
selected if two particular students refuse
to be together and two other particular
students wish to be together only in the
delegation ?

(A) 225

(B) 216

(©) 10C,

(D) None of the above

4ta1n“11 — tan™! l + tan"} —1— =
5 70 99
(A) =
m
® 5
™
© 3
(D) None of these
(o 3w
If xe \ '5, 7),1:1’191’1

—1 ( cosx .
tan 1+ sinx )8 equal to:

+ sinx
® i3
o i
© -3

(D) None of the above

. 4tan_1% — tan”

135. 12 faeniai o 9 4 foenffal = wfafa =

TS fFem IR 9 foren w1 wwar § afe @
foremefl e Ty 7 wW AR & W
Teremeff arer # w& =R € 2

(A) 225
(B) 216
(€) 10G,
(D) ST § ¥ HE el

—1— + tan™ ! —L =
70 99
(A)

® 5

© 5

(D) T | & TE

(A)

(B)

© -
(D) SR H w7
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" n! 2

138. If f(x) = |cosx cos%?— 4

. . nm
sinx sm—z— 8

138. Afg f(x) = |cosx c:os£12E 4

} . nar
sin x sm—2 8

" ; a nez) =
then [@(f( ))lc . (nez) @ den (f(X))lC _ (nez)

(A) 0 (A) 0

B 1 (B) 1

(C) ncos = (C) ncos —

2
(D) None of the above (D) I | ¥ TS T
e\/E CcOSs (e\/;) e\/_JZ oS (e\/;)

139. I Q_OJ_;__ dx = 139. j C& dx =

@A) e cos (Vx) Ay e cos (Vx)

(B) 2sin eV* 4 ¢ (B) 2sin eV 4 e

(@) V¥ cos (e‘/—’z) <) V¥ cos (e*/g)

(D) None of the above (D) S & Qi
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a a2 1+a|3

_)
140. If b b* 1+ b3| =0 and a =(1,a,a?),

3

C c"2 1+ ¢

— -
b =(1, b, bz) and ¢ =(1, c, cz) are

a a2 1+a3

e
140. af€[b b2 1+ b3 =0T a =(1,a,a?),

C c2 1+c3

b =(L,b,b) T ¢ =(1, ¢, 2) FEITAA

non-coplanar vectors, then abc is equal afew & O abe TR T :
to:
(4) -1 (a) -1
(B 0 (B) 0
© 1 © 1
(D) 4 (D) 4
141. Let h(x) =min{x; x?}, for every real = 141 IS h(x) =minfx; x%}, [} areafaes demsii
number x, then which of the following x & fe, @ freafafaa HAA | Y HITE
statements is not true ? Y TS Té © 7
(A) his continuous for all x. (A) h,x % st TR ¥ ford e
(B) h is differentiable for all x. (B) h,x % @t o % ol STeheE g
(C) h!(x)=1, for all x>1. (© hl@=1, 8¢ x>1 & oA
(D) his not differentiable at two values (D) h,x % & UAI W SEHeHE T B
of x.
142. Let f: [—10, 10] — R, where 142. WA f: [—10,10] - R, S&
f(x)=sinx +[x2/a] be an odd function. f(x) =sinx + [x?/a] TH fTﬂTI e §
Then the set of values of parameter ‘a’ is : ™M ‘a’ % "Ml A 'H'Eﬁlq BT ¢
(A) (100, ) (A) (100, »)
B (~10,10)-[0) (B) (~10,10)~{0}
(©) (0, 10) (©) (0, 10)
(D) None of the above (D) SR H HIE Tl
SPACE FOR ROUGH WORK / T& &/l & & g
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143.

144.

145.

Points (—a,—b), (0, 0), (a, b) and (a?, ab)
are :
(A) Collinear

(B) Vertices of a Recfangle
(©)
(D) None of the above

Vertices of a Parallelogram

The value of

. Ja+ 7 -3J@x-3)
ot x+6) -23Bx-5)

A 2
® 5
L 3
o B
©) %
(D) None of the above

The area bounded by the curve x =2y - Y2
and the y-axis is :

(A) 4 units

2 .
(@) 3 units

(D) None of the above

143.

144.

145.

faig (—a,—b), (0, 0), (a, b) T (a?, ab) g

(A) wHEE

(B) T & N

(C) Wi =gy« % W
(D) W H | T

(x + 7) — 3/2x = 3)

3(x + 6) —23(3x — 5) ST

x—2
B

3
@) 5

® =

23
© =

(D) SR H | HE T

TF x=2y—12 X y A A Fory &Fwa
LU

(A) 4 THE

© 3 TR
(D) SR H B T
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146.

147.

148.

If the equations ax?+bx+c=0 and
x3+3x2+3x+2=0 have two common

roots, then :
(A) a=b=c
(B)
©)

(D) None of the above

a=b=-c

a=b#c

If the centroid of a triangle whose vertices
are (a, 1, 3), (—2,b, —5)and (4, 7, c) lies
at the origin, then values of a, b, c are :

-2

-y

(A) -8, -2
(B)

©)

2,8 -2
-2, =8,2

(D) 7, —1,0

If G and G' are the centroids of triangles
ABC and A'B'C' respectively then

—> = =
AA+BB'+CC' =

146.

147.

148.

afe THHIT  ax2+bx+c=0 3T
P +3224+3x+2=0%F < I TAA © A :

(A) a=b=c
(B)
©)
(D)

a=b=—c
a=b=#c

IR H | I T

Ife T B o1 Fah 9F W (a, 1, 3),
(—=2,b, —5) TN (4,7,¢) &, q@ g @ <@
a,b,c%ﬂﬁ%‘fﬁ:

(A)
(B)
©)
(D) 7, -1,0

-2, -8 -2
2,8 -2

-2, —8§,2

Ifg G U1 G S6ES: TSl ABC a1 AB'C'
F¥EFEAN AA+BB +CC =

(A) % GG (A) —g— oo
B G& (B) GG
(© 2G¢ © 2G&
(D) 3 GG D) 3G&
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149.

The area of parallelogram formed by lines

o y=mx, y=mx+1, y=nx and y=nx+1

149.

e y=mx, y=mx+1, y=nx qUI
y=nx+1 [ T @ gER FIGHS #

will be : AR ¢
Im + nl lm + nl
&) T @ Tm-
2 2
® mra G
1 1
© g © Tmad
1 1
®) Tl ®) =l
150. If the direction ratios of two lines are 150. 'qﬁ"{ g i@aﬁ Eq ﬁ?—aﬁqﬁ a, b, ¢ AU
a, b, c and g]-c- la glg then the lines glc- = ;l; %‘f”cﬁ'é(@ﬁ%
are :
(A) Mutually perpendicular (A) TR TEEEG
(B) Parallel (B) THI®
(C) Concurrent (C) ot
(D) None of the above (D) ST U $E T8l
151. The degree of the differential equation 151. 7T THIHTO hi = S TR
satisfying J1- 22 +\jr1— y? =a(x-y) Ji- a2+ Jl— y> =a(x—y) ! T
is: Y
(A) 1 (A) 1
B) 2 (B) 2
© 3 € 3
(D) None of these (D) T Y FE TR
SPACE FOR ROUGH WORK / T &1d & & simg
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152.

153.

154.

COSx

The value of j ( - logxsmx) dx =

x
(A) log sinx+c
(B) —cosx x5 +¢

©
(D)

cosx logx +c

None of the above

The differential equation of the family of
lines passing through the origin is :

dy
= =9
A 3

dy

=L _y=0
(B) x5, "V

d
© Layeo

(D) None of these

The solution of the differential equation

2
dy ﬂ = 3(@) ‘o e
dx dxd da? 1

x=Ay+A,
(B) x=A;2+Ay
x=Ay?+ A+ A

None of these

152.

153.

154.

- logxsmx) dx T A BT

.[ (Coix
(A) log sinx+c
(B) —cosx xS +c
©
(D) W § § FE Tl

cosx logx +c

TeAfarg | TR Arelt L@1eli o el h STohal
FHHO ¥

(A)
B x——-y=0

dy
© 3 7Y

(D)

3Teehel THIHTI

dy- &3 [dzsz \
4y 3 &Y et
dx dax® dx? EE

(A) x=Ay+4a,;
(B) x=Ay2+Ay
x=A2+ A+ Ay

T | I

©

(D)
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155. The third term of a geometric progression

156.

157

is 4. Then the product of first five terms

is:

A) 4
(B 4*
© 4

(D) None of these

If o, P are the roots of the equation
2x2—3x—6=0, then the equation whose
roots are a2+2 and B2+2 is :

(A) 2x2-3x—6=0
(B) 202+3Ba+6=0
(C) 4x?~49x+118=0

(D) None of the above

If z=cosf+1i sin® be the root of the

155.

156.

157.

qﬁ:ﬁ&ﬁgﬂﬂ?ﬂ%ﬂﬁﬂ?ﬁwﬂm%ﬁwn
e e 1 OFHE BT

(A) &
(B) 4
(C) 45
T § HE T

o Gt 22 ~3x—6=0 F W o, B ¥
A Tt e g o +2 3R p2+2 B,
B :
(A) 2x2-3x—6=0
(B) 202+3Ba+6=0
©

(D)

4x2—49x+118=0
IqEd o W BE T

i z=cos0 +1i sinf, THHL

equation

- n—1 =0
agz" +az + ..., +anﬂlz+an—v0, :

agz" +ay -1y

Rk SR

. +an_1z+an=0,

then the value of ’ao + a1 cos® + a, cosZO + ...+ ar;‘cos‘ne =
ag+ay cosb +a, cos20+ ... +a, cosnf =
A) 1 A) 1
B) 0 B 0
3n °n
© © w
(D) None of the above (D) SR H q = ﬂﬁ
SPACE FOR ROUGH WORK / % &l & el g
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158,

159.

o [0 D@+t na
XRE n

(A) 4/ e

B) e

(@) ezf

(D) None of the above

The number of solutions of the equation

; 2
Sirt—]‘ (1+ X )———f—sec(x—l)i‘s/are:

(A) Infinite
® 1
© 2

(D) None of the above |

158.

159.

i [a+ )@+ 2)... .(M..n)]% 5

1300 | n
(A) 4/e
(B) e
(C) &2

(D) SwrER H @ T

N _‘ o

sin”! (__1+x J=1T-sec(x—1) & gl
2x 2 .

) e gt —
(A) d

®) 1

© 2

©) RRAIRET
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160. A rectangle is inscribed in an equilateral

161.

(D)

triahgle of side length 2a units. The
maximum area of this rectangle can be :

(A) 4a?

ml“’N

Nla

©)

(D) None of the above

A group of three people is selected at
random. The probability, that all three
people have different birthdays is :

(A) 0.829
(B) 0.892
©)

0.929

0.992.

160. ﬁm”r reg Fiys foht o0 2a 5% §, #

161.

TS S @ T 39 3Ad W1 Siyehan
AF B ¢

(A) 4a?

, 2
B =
© —? a®

(D) mﬁﬁﬁiﬁ

N e T
¥ YU YU S TGad & 1 Wil © ©

(A) 0.829
(B) 0.892

(C) 0.929

(D) 0.992
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162. A card is chosen‘a{:;random from a deck
of 52 cards. It is then replaced; the deck
reshuffled and a second card is chosen.
The probability of getting a jack and an
eight is :

(A)
(B)

©

None of these

(D)

52 T F T A TF T G A W
wfenfia fofa ST € A TG R I e
(9TRet) ST §1 GO O A S 1 TH
T T S-S F AR E :

162.

(A)

(B)

©)

(D)

163, Area bounded CUurve

xy2= a%(a—x) and y-axis is :

by ﬁne

(A) 3ma’

2 /

(B)

Ta

(C) 4wa2

(A)

(B)

©)

(D)
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164. Mean of the numbers 1, 2,3, ..., n with

164. HUM T 12+41,22+2,32+3,..., n®+n

respective weights 12+1, 22+2, 3243, .., FUT S 1,2,3,..., nHAAT :
nZ+nis:
3n+ 1 - 3n+1
A ; A
(a) = @ =
B n+1 B 3n+1
® = ®
2n+ 1 2n+ 1
(©) 3 © 3
3n(n+ 1) 3n(n+ 1)
@) 2@n+ 1) @) 2@n+1)
165. For which of the following functions  165. 7 Wi # @ fergeh forq =re v wag
Mean Value Theorem is not applicable ? Syt & feRan T e B 2
11 11
=x+-; = <sx<3 =x+— —<x=3
(A) fE)=x+ o= (A) fE@)=x+—;i5=<x
(B) flx)y=tan"Ix; 0<x<1 (B) fx)=tan~lx; 0<x<1
Q) f)=h1=x=<2 Q) flx)=lh1=sx=<2
(D) f(x)=x%;—1Sx$1 (D) f(x)=x%;—1stl
2x — 6x2 —x — 6
166. Solution set of the equation 166. FHIHTOT xx— 13 +1=2 = —xl EQl
2x - 3 6x> —x — 6
+1="—"2is: :
P — s T A= B :
-3 b-3
1, - = 1, = =
@ fu-3 (4) 3
1 1
® {3 ® {3
© ©
(D) None of these (D) FH A S T
SPACE FOR ROUGH WORK / 1% & & o svig
Set- A

0821/ BE-SC/PP-M




167. If by, = — —2— and by, = — %,then: 167. AfE by, = — % o by, = - éaa
@ o= M a) =5
® o= ® =
© p(xfy)=—-2- ©) p(x,y)z__»;:
® ren=-3 © ="

d
168. The solution of the equation 168. THIEHT a% +x(x +y) = O “l*‘,y)s‘“]-

gd;yc—+x(x+y)=x3(x+y)3_1 is: FET:
A 1 =1+x2+c:e"2 A ! =1+x2+cex2
() 5 () 2
+) S5
1 5 . 1 ) x
(B) =14+ x° + ce (B) =1+ x"+ce
x+y Ty
1 : 1 . . x
C =14+ x+ ce C =14+ x+ ce
© > © 2
@+ ) E+y)
1. 2 1 ’
=1+ x + ce* =1+ x+ce’
@ oy =TT © Syt T
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169.

170.

171.

The maximum value of z=23x+5y,
subject to x<2, y<3, x+y =4, x=0 and

y=0is:
(A) 15
(B) 16
(C) 18
(D) 20

pA
5% *<0, \R, then at
Nx], x= 0,

Let f(x)= {
x=0, fis:

(A) continuous if A=0
(B) continuous for all A

©)
(D) none of these

discontinuous

To evaluate the value of integral

b
_[ f(x)dx by the trapezoidal rule, in how

a
many subintervals the interval [a, b] be
divided ?

(A) 3n subintervals
(B) (n+1) subintervals
©)

(D)

2n subintervals

any number of sub-intervals

169.

170.

171.

gfgera x<2,y<3 x+ty<4, x=0 ddq
>0 % TG 2 =3x + 5y F1 HETH WA ® :

(A) 15
(B) 16
C) 18
(D) 20

(5%

57, x<0

= ! " XeR, =

) i)&[x], X = O,)\ @ x=0

A) Had g =0
B) waa =i A W foq

D) T ¥ FE TR
b
sysigee foife @ qHeReT If(x)dx 1 HH

A HR & U, T [a, b] fwa
3u-3farett | fawfsia g ?
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172.

173.

and cosB = 1—3- then

If cosA=
14

| =

A-B =

@) 3

® 3

© 3

None of these

(D)

An optimal feasible solution of

Minimize : z=2X; + Xy, subject to
S5xy + 10x,=<50,
Xy +x,2 1,
X,=<4, Xy, X3 =0
is at:
(a) 10,23
(B) (2, 4), (0, 10)
© (10,0, (24

(D) (©,1), (0

172.

173.

Ife cosA = —;—H%H cosB = —1% WMA-B =

B 3
® %
© 3
(D) T | HE T

Minimize : z=x; +X,, PIGERI

5x +10x,=50,
X +a,= 1,
xy=4, xq, xy=0
¥F arid, o T =0 TSI B ®
(A L0 E3)W
(B) (2,4),(0,10) W
(C) (10,0), (2,4) W

(D) 01,10 =
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174. The vertices of a triangle ABC are

175.

176.

A(-1,2,-3),B(5,0,—6) and C(0,4, -1).
The direction ratios of the external bisector
of ZBAC are :

(A) 11, 20, 21
(B) —11, 20, 23
©

(D)

12, —20, 21

None of the above

If ABC is a right triangle with right angle
at C, then tanA +tanB is equal to :

(A) —

(B) a+b

<© =

O) —

One root of the

23 —5x+1=0 must lie in the interval :

real equation

(4 01
B) (12
(©)
D)

(1,0

(=2,0)

174.

175.

176.

fret fIs ABC % fid A(-1,2,-3),
B(5,0, —6) T C(0,4, —1) T1 W01 LBAC
F R gHgHSS & 5 ST B ¢

(A) 11, 20, 21
(B) —11, 20, 23
(C) 12, —20, 21
(D) W # § FE T

Ife ABC T guaiv s & e ¢ W
W“T@,‘cﬁtanA+tanB'@Tﬂ:

a2

(A) e

(B) a+b
© =

D) —

HHIHT 23 —5x +1=0 Tl TH (s I
= i 7 8T

(a) 1)

B &2

© (=10

O (=20
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177. 1f 1, ®, w? are cube root of unity, then the
_ value of (1 +o?)Sis:

(A) 1

(B) —w?

© -o

D) o
178. If F(x)=f(x) ¢ (x) and f'(x) $'(x) =¢, then

e_f —%—'isequalto:

177. AE 1, 0, 02 THE & TG 8 @ (1+w?) 70

178.

1 HME B
A 1
(B) —o?
© -o
D) o

AR F(x) =f(x) b (x) T f'(x) $' () =c, T

Foof Ff ¢
2c 2c
(&) Fo (A F¢
3c 3c
® T4 ® Fo
c c
© Fe © Fe
2c 2c
) 5 D) 5o
179. The vector AB = 37 4 4% and 179, A ;P = EYRDRE
AC = 5/1'\ _2/} +4£ are the sides of a AC = 5/1‘\ —2/} +4/12 ﬁﬁﬁABCﬁ'ﬂ?ﬂaﬁ
triangle ABC. The length of the median 1 gt F € ot farg A | e S et
through A is : AfeerehT shi TS B ¢
(A) V18 (A) V18
(B) 72 (B) 72
© 33 © 33
(D) /288 (D) 288
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180. The approximation of f(2.05) for

181.

182.

X2

1+ x

is:

fx) =

2

(A) 1.6560
(B) 1.6214
(C) '1.6465
(D) 1.62

If Ax=0.005 and Ay=0.001 be the
absolute error in x=2.11 and y=4.15,
then the percentage error in the
computation of x +y is :

(A) 0.00958
(B) 0.0958
(C) 0.097

(D) None of these

Least positive integer m for which

N
(1“,) =1is:
1-1

4) 1

B) 2
< 3
D) 4

180. f(x) =

181.

3
X & T f(2.05) 1 wfhe
1+ x

T

(A) 1.6560

(B) 1.6214
©
(D)

1.6465
1.62

g x =211 AW y=4.15 § Ax=0.005 I
Ay=0.001 T Ffe &, T x +y % UFETA
1 wiawa e €

(A) 0.00958
(B) 0.0958
(C) 0.097

(D) T ¥ S T |

182. =FH ¥ quiteh m Torereh g G—‘_L—’)m =1

1

'Eﬁ"'l'l,‘crb'%:

(a) 1
(B) 2
© 3
(D) 4

SPACE FOR ROUGH WORK / % & & fo& s
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183.

184.

185.

+gx(: xg) then :

‘If'u=:x(gx?)+_l:x(? x:)

|
(A) wis aunit vector
(B) u=0
- -
a c

g
(C) u=a+b +

(D) u=#0

An optimal feasible solution of the linear

programming problem : Minimize

z=2x,—x; subject to x;—x%,=-1,
0.5x; +xp < 2; X9, Xp=01is

a) L2
(B) &4
© ©D
(D) None of these

If 685:783 is approximated to three
significant figures, then the percentage

error is :

(A) 0.037
(B) 0.034
(C) 0.03165

(D) 0.03399

183. A u= P x(; X ?) + gx(_g X Z)

+?x(; xg)%ﬁ'
u@mm%

(B) u=0

(&)

- - [
a+b +c

©)
(D)

u=

uz0

I

184, XRaeh TR WHEA Minimize : z=2x,— %y,

185.

%y, X, =0 % IR, T TH AH FeAH &
g

a) 12
B &4
© 1
(D) T 9 i 7 |

afe 685.783 1 A B WIFI qh Hi-Teh{ed
feran s, e gfowE A ®

(A) 0.037
(B) 0.034
(C) 0.03165

(D) 0.03399
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186. The distance between the parallel lines 186. WATTAX I@SN 3x+4y+13=0 T4l

3x+4y+13=0 and 3x+4y—13=0is : Bx+4y—13=0 F AA AT :
N 2 N 2
(A) (A) 5
(B) 26 (B) 26
© o (€ 0
D) = D) 5
187. If a variable takes values 0,1,2,...n 187. A Tk = IRERAR
with frequencies N o an—1 «_
qn’T n—1 , - )qn 2p2,”.’pn
qn n qn—-l p &__12 n—2p2 pn . .
"1 ’12 FEH0,1,2, ..., n TE H T FA@ T,
where p+q=1, then mean is : ﬁﬁp+q=1,ﬁﬁmw%:
(A) n(p+q) (A) n(p+q)
(B nq (8 nq
© np © np
(D) None of these . (D) =79 | &g T |
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188. The lengths of the subtangent and

188. YT WS Y Afqers &

subnormal are equal, then the tangent is GERHIRCRICES -
equal to :
(A) 2 (ordinate) a) V2 (®f)
(B) /2 (ordinate) (B) 2 (=ife)
(C) ordinate (C) =ife
(D) none of these D) THIFETE
189. Two variables X and Y are connected by 189. TR X @A Y [ ax+by+c=0, el
the relation ax+by+c=0 where ab < (, ab<0, S E, G| p(&, Y) = ..
then p(x, y) = S
(A) 1 (A) 1 .
B -1 B) -1 '
a a
© 3 © 3
b b SR
®) - © - 3
x? 2
t“—5t+ 4
190. The points of extremum of 190. _[ T ot e dt %Wﬁn‘fﬂ%%
5 s
X" 2
I g oot 4dt are :
0 2+ e
(A) 0, =1, £3 (A) 0, =1, =3
(B) =1, £3 (B) =1, £3
© 0 =1, x2 © 0, =1, =2
(D) =3 (D) =3 .‘
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191. ‘R‘ange of the
fixy=sin~x+sec™1x is :

@) [0« - {7

(D) None of these

191, ®F f(x) =sin~lx+sec™ Ly T ARE ¥ :

192, If f is differentiable, 192. 4fe f ATGH A g, a9

P R ) el 0C2) ey VO + DP — F@F

B30 - 2h h—0 2h

(A) f(x) (A) f'(x)

B) [F@P B) '@

© f@)fE) © fix) f'x)

1 2. 1 2
D) 3 L' )] D 3 [f' ()]
SPACE FOR ROUGH WORK / 1% & & for&d sg
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193.

194.

. - W
The value of x in (-"—‘—, -
L2002

the equation g1 +|sinx| +v|si‘nxi?‘ oo ® 24345

(A) *

wia

B) =

o g

© =

N A

(D) =+

NE

The Newton - Raphson method
converges fast if f'(a) is : (« is the exact

~value of the root)

) which satisfies 193.

194.

2
gl+lsinal +sind +. .. o — 43 Y HIeL B,
BRT

S (:1, gjﬁma@m@mﬂw

(A) =

w4

(B)

I+
ENE

© =

SIE!

D) =

N

=z-ter fafe § sifve dea @ By,
IfE f(e) 1 AF R : (Y F1 T T o ®)

(A)  small (A) BRI

(B) zero (B) XA

(C) large © =&

(D) none of these (D) T | &S T
195. 162+173+ . ... +30%= 195. 163+172+ .... +303=

(A)  (465)%— (120)? (A)  (465)2—(120)2

(B) 465x120 (B) 465x120

(C) 465 (C) 465

(D) 4652 (D) 4652

SPACE FOR ROUGH WORK / % &Td & fa&t w8
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196.

197.

198.

It ’j- bt cos 4t — a sin 4t dt = asindx

-1
t2 x

’

0

(0 <x< ‘l-r) , then the values of a and b

are respectively :
A -1, 4

B) 24

C 22

0 1

The position vectors of the points A, B, C

A A

A A A A
are 27+ j— k 3i—2j+ k and
A A A . .
i+4j— 3k respectively these points :

(A) form an isosceles triangle
(B) form a right triangle
(C) are collinear

(D) form a similar triangle

The acute angle between the straight
lines y= (2 - Bx+ 6 and
y=(2+ V3)x - 8is:

(A) 30°

(B) 90°

(C) 60°

(D) 45°

196. 4 Ibtcos4t— asin 4t di = asindx

X

.._1
2 - ,
N t N

(0<x<%),aﬁa‘ﬂmb%ﬁ'ﬂﬁ§mzz

(A) -1, 4
(B) 24
C) 2,2

0 71

197. afg A, B, C fogeli & feafa wfcw wwwm:

2T+ -k ai-2j+k W
T4 a] - 3k ¥R AN

(a) wufgerg B # fitfa =@ €)1
(B) wmehor Fys i Fmiw FW ¥
(C) wWEERI

(D) gey e fafda #a €

198. 9@ Y@ y=(2- B)x+ 6 T

y = (2+ 3)x - 8 % weg ZFH AW :

(A) 30°
(B) 90°
(C) 60°
(D) 45°
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199. The image of the point (-1, 3, 4) in the ~ 199. ¥HIA x—2y=0 ¥ fag (=1,3 4) &1

plane x —2y=0is : Qe 8T :
—-10 -5 -10 -5
I _—14 — —_147

(A) ( 3 3 ) (A) ( 3 3 )
555 553

( 3" 373 37373
(2,224 o (L24

( 37 373 © 3" 733
-17 -19 -17 -19
- 7 _—/4 — —/4

(D) (3 3 ) (D) (3 3 )

200. The equation of one of the planes through ~ 200. ¥ THdT <l [efer St FHAA! x + 3y +6=0

the intersection of the planes x + 3y +6=0 3R 3y —y—4z=0 ¥ whresed ¥ TR §
and 3x —y—4z=0, whose perpendicular iR afeg @ SEH! e g 17, B
distance from the origin is unity, is given

by :

(A) 2x+y—2z+3=0 (A) 2x+y—2z+3=0

(B) x+2y+2z+5=0 (B) x+2y+2z+5=0

(C) 2x-2y+2z+6=0 (C) 2x-2y+2z+6=0

(D) None of the above (D) I H 9 FE T
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121.

122.

123.

(D)

(B) BIOLOGY
(i) Botany

Protein part of a complex enzyme is
called :

(A)
(B) Prosthetic group
©)
D)

Coenzyme

Apoenzyme

Holoenzyme

The colony of which of the following
organism looks like fried egg ?

(A)  Fungi
(B) Algae
©

Cyanobacteria

Mycoplasma

Which of the following mechanism is best
suitable for opening and closing of
stomata ?

(A) Production in guard cell by

photosynthesis
(B) Starch ¥ Sugar theory
©)
(D)

Glycolate metabolism

Proton transfer

121.

122.

123.

(&) sfter fermm
(i) STt e

T Sfedt T 1 WA aren A sheerdl
g

(A) HITIEH
(B) wredfem o
(C) TT=TEH
(D) BIITTEH

o1 5 2 For < = e o g e ¥
A feaE Tt 72

(A) &

(B) Y&

L (© SRS

(D) TEHIIA

i % ge a9 S 21 I i wEfafy
Yol ST SIIH B ?

(A) TRTY WA GRI GREITYIRT § S

(B) W = YR TI%
(C) TAEHRIIE U=

(D) T TIHIR

'SPACE FOR ROUGH WORK:/ Y& @ &% fer&t s
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124. Botanical Name of Isabgol is :

124. TSRS 1 SFEATR T R
(A) Cinchona officinalis (A) o sTfRRgfeE
(B) Digitalis purpurea (B) fefofam wgian
(C) Plantago ovata ) =) e
(D) Ephedra alba (D) sWET 3Tl
125. Ribosomes are attached to ER through : 125. TEEEE ER ¥ R R S[El el ¥ 7
(A) »3RNA (A) rRNA gW
(B) Hydrophobic interactions (B) IR aTafHal g
(C) Ribophorins (C) TEABIRT gRI
(D) Riboligase (D) W@—a U
126. What is not correct about the 126. TEEHE voEe ¥ e § e H @ w=n wd
Photorespiration ? T2
:(A) Found in green cells (A) B0 Fifered I S R
(B) A.T.P. are formed (B) w3, = it da
(C) N.AD.H. is oxidized to N.A.D. (€) TEATE snfEEFa B TTE
A B L
(D) Respiratory substrat is Glycolate (D) oA el T Bl § )
127. Beggiatoa bacteria is an example of which 127. faRien ey fret 3 & feraeht Seea )
of the following ? 7 :
(A) Hyarogen bacteria (A) TEESH e
(B) Sulphur bacteria (B) T S
(C) Nitrogen bacteria ©) EAIer S
(D) Iron bacteria (D) Fﬁgm
SPACE FOR ROUGH WORK / T% & & for&l &
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128. Which of the following change occurs in

129.

130.

131.

number of chromosomes in S phase of
Cell Cycle ?

(A) Number becomes dcubles
(B) Number becomes half

(©)
(D) All the above

Number remains unchanged

Isogamous condition with non-flagellated
gametes is found in :

(4)
(B) Volvox

Chlamydomonas

Spirogyra

Funaria

Which of the following part of Pinus seed
exhibits gametophytic generation ?

(A)
(B) Seed coat
©)
D)

Embryo

Perisperm

Endosperm

Nucellar embryo is :
(A) Apomictic diploid
(B) Apomictic haploid
©
(D)

Amphimictic haploid
Amphimictic diploid

128.

129.

130.

131.

THIITEHT <5 Rt TH ST § TUHT i HEAT
# e § | s e dar g ?

(A) wHen g A S §
(B) e et 2 St 7
©)
(D)

& qerEd @t ¥
IWEd gt

L

(A) FHEEEHAH
(B) dicTeeR

(C) TR
(D) IR

T % o | 1§ @ A 9 Sgsee
et i il ww §?

(A)

(B) S wHerw

(C) uher

(D) ST

?{@W%I“T'@IHT%

(A) TafHfFE
(B) UdifAfR s
(C) THIfAfERe Tfm
(D) wewfafeRs feufm
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132. Mucor is classified under : 132, HHL @ forean STwaia g (ohal T 7?2

(A) Oomycetes (A) TS
(B) Zygomycetes (B) SIS
(C) Ascomycetes (©) TR
(D) Actinomycetes (D) TGRS
133. Match the following : N 133. sfaq Hey Sifsd ¢
(a) Copper ‘(i) Heart rot (a) W @ eRAIM
disease
(b) Molybdenum (i) Whiptail ., ) dfafs™ - (i) fegqea
- disease
() Zinc (iii) Little Leaf  f&=® i) fafeq <
“disease T
(d) Boron (iv) ' Dieback d) A (iv) EEa® I
disease
@ 0 © @ @ © © @
A) Gv) @) @) @ (A) @) @) @@ 6
(B) @v) @ @ (@) B) (@v) @@ @ G
© @ @ o 6 0 . © @) (@) @
D) @ @) @ @ - DO @ @ W)
134. Monocot Pollengrains are generally : 134, THSATI TR GEF: B4 € :
(A) Monocolpate (A) TR
(B) Bicolpate (B) IS
(C) Tricolpate (C) TTRIeTe
(D) Multicolpate (D) TEEHEUS
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135. Which of the following enzyme does the ~ 135. W@ﬁ%wﬁmﬁaﬁw ST
transcription of protein synthesising genes i 8§ 9 forg et g B 82

in eukaryotes ?

(A) R.N.A. polymerase I (A) SRTLTE qreiast 1
(B) R.N.A. polymerase II (B) SMMTAT, WieTHis II
(C) R.N.A. polymerase III (C) MMTAT, feftHes I
(D) All the above (D) SWed weft

136. Which of the following is found in HIV 136. @Wﬁ%ﬁf ‘l%[EITQI H fr=1 ¥ 9 5391 9 W

virus ? 77

(A) ss D.N.A. (A) THETH ST,
(B) ds D.N.A. - (B) ¥WE TG
(C) ss RN.A. (C) THTH JNTAE
(D) ds RN.A. (D) BLUE. R,

137. How many contrasting characters were 137. W I Hoell & SRR # fohaq fades

studied by Mendel’s in pod morphology AR T LT Hed gr fohan T 2
of Pea ?

(A) 01 (A) 01

(B) 02 (B) 02

(C) 03 (C) 03

(D) 04 (D) 04
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138. The initiator AUG in Prokaryotes codes 138. W@y 4§ Uy AUG el &It

for : YT T ?

(A) Valine (A) FefH

(B) Phenylalanine (B) TGt
(C) Formyl methionine (C) hfHa fHfuetHA
(D) Methionine (D) TafaeiEF

139. Induced fit model for enzyme action was 139. fod & fiFa o Tuem % o0 TSNS

proposed by : firz Afee forrer g whaaifed fewan o ?
(A) Koshland (A) FERITS

(B) Kuhne (B) T

(C) Fischer ©) fFmr

(D) Michaelis - (D) THefea

140. If number of chromosomes in endosperm 140 IfQ T I A o yoTaTy H TR i WA

of flowering plant is 18, then what would 18 ¥ <1 srve HiveR H TORGH B FEA
be the number of chromosomes in egg Bt :

cell ?

(A) 06 (A) 06

(B) 12 B) 12

(C) 18 (C) 18

(D) 24 (D) 24
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141.

142.

143.

144.

Which of the following pigments does
not take part in photosynthesis ?

(A4)
(B)
©
(D)

Phycocyanin and Phycoerythrin
Carotene and Xanthophyll
Bacterioviridine

Anthocyanin and Melanin

Which of the followings are essential
macronutrients ?

(A) Mn, Mg, Zn, Cu
(B) Mo, Cu, Cl, Fe
(C) P, Mo, Mn, Zn
(D) Mg K Ca, S

Which of the following is a tailless
Bacteriophage ?

(A) T, phage
(B)
(©)
(D) All the above

T phage
$X174

Khaira disease of Rice is caused due to
deficiency of :

(A) Cu (Copper)
(B)
©
(D)

Mg (Magnesium)
Zn (Zinc)
P (Phosphorus)

141.

142.

143.

144.

®)

= # | =1 w1 guiw g dyawo § an
&AM E?

(A) FIREAHET @ BEHERITA

(C) <feRafafE

(D) TEIERAA & HerE

e & @ oW erfyerd dwgfiae
fSant sTrervaerar aifyes | | Bl 2

(A)
(B)
©)
(D)

Mn, Mg, Zn, Cu
Mo, Cu, CJ, Fe
P, Mo, Mn, Zn
Mg, K, Ca, S

o St e @ W E 2

(A) T, ¥rsit

(B) Tg sl

(C) E TH 174 sl
(D) Iuder weft

9 1 WU A e FH o HR0 T R ?

Cu (HIT)
Mg (FFaferm)
Zn (fSi)

P (W)

(A)
(B)
©)
(D)

SPACE FOR ROUGH WORK / & &9 & e smig
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145. (a) Assertion : Pyramid of energy is 145. (a) YT Wwwmﬁm

always upright. TR

(b) Reason : Approximately 10% (b) T_RITUT o W1 H T 10%
energy is transferred in Tl ShT TR Bl ¥l
tropic levels. )

(A) (a) right, (b) wrong (A) (a) T, (b) T

(B) (a) wrong, (b) right (B) (a) T, (b) ]

(C) (a) right, (b) right (C) (a) WEl, (b) T

(D) (a) wrong, (b) wrong (D) (a) 7TE4, (b) TTeTd

146. In which of the following DNA the 146, fEA# A fFu AT T ¥ ufi Arg & S

number of base pair per turn is 10 ? ! WEA1 10 T 82 :
(A) AD.N.A. (A) TIET
(B) B.D.N.A. | (B) sETE
(C) C.D.N.A. © #HIwT
(D) Z.DN.A. (D) SEITT

147. Which of the following layer in internal ~ 147. fodifeen & @ w1 SAARE HWIEA :
structure of selaginella stem is Sfaerpies ®R = FY M2

Trabeculated ?

(A) Epidermis (A) SR
(B) Endodermis (B)  ST=aEer
(C) Pericycle (C) ufw
(D) Cortex (D) e
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148:

149.

150.

151.

Which:of the following embryosac is 4

nucleated ?

+ Polygonum type

j~ ' Oenothera type
Allium type
Endymiony‘;‘fyfe:f’

The phages that show lysogenic cycle are
called :

(A) Virulent pnages
(B) Lytic phages
“Avirulent phages
(D) Temperate phages

Mycelium of Mucor is which of the
following type ?

(A) Monokaryotic
(B) Dikaryotic

(C) Coenocytic

(D)’ “All the above

Pesticides cause :
(A) Air pollution

(B) Water pollution
©

(D)

Soil pollution

All the above correct

148.

149.

150.

o H A BT YU IR FHEhd B 2

(A) AT JHR
(B) AT TR
(C) TEr™ FER
(D) UOSEEA FHR

wEENS =% YRl B o ey Rl
FE

(A) AEEAS Y

(B) wmsfesh TG

Q) TR e

(D) TE o™

B F g T A A TR TR F R €2

(A) T Hhid
B) feF==ra
(C) TEH=HA

(D) SuleR gt

151.

ISR R BT §
(A) =g T

(B) S W

() T Ao fH TG
(D) o T+t

SPACE FOR ROUGH WORK / 1% &1d & fed sng
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152. Which of the following is not true about 152. W et % o # e § @ w7 Wl
Gibberellins hormone ? & 7?2

(A) Polar translocation (A) e TR
(B) e frmior # diewme

(B) Initiates root formation

(C) Delay in Leaf Abscission (C) it % foem T focis

(D) Induces cell elongation (D) HfrR g G

153. Sugaris used in preservation due to which 153. o # Wb @1 swEm fre F 9 fE

of the following reason ? 1T TR ST 2

(A) Reducing osmotic pressure (A) TUET E HH EaC i

(B) Increasing osmotic pressure (B) "-|'{R"|TUT HERE R

(C) Reducing temperature . (C) TUHH HH w H

(D) Reducing pH value (D) WTE AF FH B H
154. Cotton fibres are : 154, FTHF W B T :

(A) Lignified surface fibres (A) fafiTt g s ™

(B) Bast fibres (B) W (FAEH) &

(C) Cellulosic surface fibres (©) Yo g TaE o

(D) Wood fibres (D) TS kil
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155. Which of the following statement is true

156.

157.

about cell theory as understood today ?

(a) All living organisms are composed
of cells and products of cells.

(b)  Allcellsarise from pre-existing cells.

(a) and (b) both are correct

(A)
(B) (a) correct, (b) wrong
©
(D)

(a) wrong, (b) correct

(a) and (b) both are wrong

Which of the following enzyme is found
in Lysosome ?

(A) Hydrolases, Lipases, Proteases
(B) Hydrolases and Carbohydrases
(©)

(D)

Hydrolases, Lipases, Carbohydrases

Hydrolases, Lipases, Proteases,
Carbohydrases

Which of the following is found in matrix

‘of Mitochondria ?

(A) Single circular D.N.A.
(B) Few RN.A.
(C) 70 S Ribosomes

(D) All the above

155. ST UHA ¥ urdes § e fagr deid

156.

157.

- (©

BT HAT TE B ?

(a) @ Sfifer Sfrar shifeh = shifrRt SET
YITEA R

(b) it wifeer yeifeem wifvee @
ffefe St 1

(A) (a) T (b) T W

(B) (a) W&, (b) T

(a) T (b) W

(D) (a) T (b) Al T

R T W QS fereh T S
2?7

(A) TEGCRS, AEIHS, FEICHS
(B) TEEIASIS & FEEEgTS
(C) RSN, TEUES, FEEESoTS

(D) TEIAAT, ARIV, TIITE,
EICIRECSE]

Rl (AR % s H e
H § o W S R ?

(A) THA FAEHR ST
(B) $V IARTAY,

(C) 70 TH TESEM

(D) Soe wft
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158. Planktons are the component of : 158. wiHM fhu® 9eF 8§ ?

(A) Grassland ecosystem (A) =rayfa gfiffant 95 % )
(B) Pond ecosystem (B) e uiRftefawnt 93 &
<) Forest ecosystem (C) == uiRfeafaent asréa P

(D) All the above correct (D) sRE Ef gd i

159. The promotor region in prokaryotic 159. uﬁ%ﬁmﬁgﬁm%w e

transcription is recognized by :- X eI FUA
(A) Rho factor ‘ | (A) Rho R

(B) B subunit of RNA polymerase . (B) RN ATl H Bagq_wé

(C) o factor of RNA polymerase (C) RNA-YHS m Ula;p\q;

(D) RNA polymerase | (D) RNA el RNy

160. Which one of the following is not a 160. ﬁﬁﬁﬁﬂﬁ?%ﬁﬁ? aﬁﬁmwﬁf%?

natural auxin ?

(A) Indole Acetic Acid (A) woid afes ufae
(B) Indole Butyric Acid (B) 3Toid e e
(C) Indole ethanol ©) T

(D) Indole Acetaldehyde (D) w=id TaeElRne .
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(ii) ZOOLOGY

161. Biocontrol of larvae of mosquito is done
by :
(A) Ladybug
(B) Aphids
(C) Gambusia
(D) Rahu fish

162. Red data book is record of endangered :
(A) Plants
(B) Animals
(©) Both plant and animals

(D) All plants and animals that are
living

163. Which one is not correctly matched ?
(A) j:(Evlos‘ivng__pvalpalis - Sleeping sickness

(B) Culex - 'Filai’-iasis‘

(@) ‘Aéd‘es aegypti - Yellow fever

(D) Aﬁépheles’e - Leishmaniasis

164. Pseudostratified epithelium is found in :
(A) Oesophagus
(B) Urinary tract’
,(:C) Respiratory tract
(D) Kianey 2

(i) WTOTIPTRA

161. TR ¥ wEt 1 S FrE e e

(A) S g
(B) UfRSH T
(C) i gr
(D) g wodl g/l

162. YT TR 9% IS § g@ad :

(A) el

(B) rgst

(C) < el wE g3l

(D) @t Shife deli wdl gt A

163. Frfafea ¥ w1 98 gafaa 78 82

(A) TeIE Tredfes - e I
(B) e - WRANTEE
(C) Tfew ufufe - dien R
(D) TR - faeRfafad

164. SEfemEe TveRferm org S & :

(A) TEHTE
(B) T AT
(C) e Tt
(D) T
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165. Jaffarbandi, Murrah and Mehsana are the 165, Soai, g qe Hgwm fFaew & § 2

breed of :

(A) Cow (A) T
(B) Buffalo @) 99
(©) . Goat © wd
(D) Sheep (D) ¥

166. The power of shedding certain body parts ~ 166. &N ¥ TR F T 9E e o 37 W

in self defence is called : yifers i FEd | ¢

(A) Autotomy (A) e

(B) Reparative regeneration (B) Tufea gregwer
(C) Restorative regeneration © e e
(D) de growth (D) S dafs

167. Inner Lining of gut, stomach and liveris ~ 167. T, SR & I%d w1 Sdien T A1 €l

made of : ¥

(A) Simple squamous epithelium (A) Torre ey sdedifasm
(B) Simple columnar epithelium (B) oI wregE T sdtefifersm
(C) Simple cuboidal epithelium (C) Toma wEfaea gefifeay
(D) All the above (D) SulieRt wedt

168. The dead bacteria and pus formation in 168, g T AT ¥ T Y Feri i a1 walg

the wounded region is known as : (pus) Tior 1 e g7
(A) Inflammatory response (A) v wlafsan

(B) Immune response (B) wfan Hag

(C) T celll response (C) T =Ien €agT

(D) Phagocytic response (D) w&w EEELCIi
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169. Cholecystokinin and secretin are secreted
by :

(A) Stomach
(B) Liver
(C) Duodenum

(D) IDeum

170. Taxonomy based on determination of
genetic relationship is :

(A) Cytotaxonomy
(B) Numerical taxonomy
(C) Biochemical taxonomy

(D) Experimental taxonomy

171. Opium is an extract of :
(A) Cannabis sativa plant
(B) Root of poppy plant
(C) Unripe fruit of poppy plant
(D) Stem of poppy plant

172. Sex linked disease is :

A) Goiter

(
(B) Phenylketonuria
(C

S

Haemophilia

(D) Thalassemia

169. Fichfa=mErm o famifer w1 wEw g

g

(A) STERE 9
(B) ¥Fq

(C) wgfemd
(D) ¥eitad |

170. TG TEEE % PO & STER W

TFAAT | :

(A) WS

(B) —IRfeRa Tl

(C) wRirRfEwe A
(D) T SR

171. T fergent o B 82
(A) FHIfeE Fergen g i
(B) Tt W& % NS A
(C) THM F URYST Hel 1
(D) STHM & WY % T H

172. 0 feige o ©
(A) TARER
(B) FEmEfen
(C) Erftwfern
(D) drfa
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173. The joint between skull and atlas which 173. TIIS T91 Tead & Hed S il A e I &+

allow nodding movement is called : T ST B R
(A) Atlanto - axial joint (A) TeaRI-TfRTd S
(B) Pivot joint (B) UEdile SIg
(©) Hinge joint . (OERIEEIE
(D) Atlanto - occipital joint (D) T - SFiued Sirg
174. Ageing starts with disappearance of : 174. T e faqa 3 & o 2t B
(A) Spleen (A) TAF
(B) Pituitary gland (B) Tl Uty
(©) Thymus gland (C) 9w Uiy
(D) Parathyroid gland (D) WeumRias Uty

175. Turner’s syndrome in human is caused 175. 979 § R fagm ERE R
by.:

(A) Autosomal aneuploidy (A) SEHT THIEE % HRU
(B) Sex chromosomal aneuploidy (B) U HEMEH TIEES! % HRT
(©) Polyploidy (C) diATge! o HN0l

(D) Autosomal hyperploidy (D) STRIEHA SRR & HRI

176. LSD (Lysergenic acid diethylamide)isa:  176. LSD (TREGITS THE SRUYRAMES )

e

(A) Nerve depressant and extracted (A) >Rl 3T T SAdEH EAREISISIR
from opium 7

(B) Hallucinogens and extracted from (B) ¥H 3G o T WE o gt foman
Ergat fungus ST

(C) Nerve initiator and extracted from (C) R SEuA aree H el T qid
Bark of Cinchona foren ST ® AR @1 B 9

(D) Nerve stimulant and extracted from (D) st 3@ TE AW q 1 foRar st
Neem 7l
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177. Spermeiogenesis is the process in which : 177. wffasAfag wh fafu g

(A) Spermatids changes into (A) wyiffes @ wrldshen SR R 1
Spermatozoa

(B) Spermatogonia produce Spermatids (B) wrfriitrn @ wnfde o g

(C) Spermatocytes give rise to © wiferaEe § wHdsher o a B
Spermatozoa

(D) Dormant spermatozoa converted (D) 9g« Tfersiien & rufie SR SRl
into primary oocyte B o

178. Give the correct match in the following : 178. Trfafaa & w&t gafea &

Column I Column II HieH 1 e 11
(@) Flame cells (i) Sponges (a) THRMEH (@) TS
(b) Collar cells (i) Hydra (b) HIOR HI¥ERI (i) TR
(c) Stinging cells  (iii) Planaria (© ffaRen () R
(iv) Ascaris (iv) Teni
@@ ) (d (@ () (
(a) @ @ @ (A) @) 0 @
B @@ @O @) (B @@ @ @)
© @ ) @0 © @ @ O
(D) (@) @ @) (D) (@) @) ()
179. C-value paradox is : 179. W-3og TNeaE § : :
(A) Diploid DNA content (A) fewme STAT Fi 76
(B) Haploid DNA content (B) YIS ELTAT, A A
(C) Variation in C-value (C) H-aeg # fafvma
(D) Constancy of C-value (D) E-Ig w1 e
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180. Joints between bones of human skull is :

(A)

(B)

©)

(D)

181. Which of the following is absorbed in

Hinge joint
Synovial joint
Cartilagenous joint

Fibrous joint

ileum ?

(A)

(B)

©)

(D)

Fat

Bile salts

Vitamin K

Glucose

182. The egg of elephant are :

(&)

(B)

(©)

(D)

Macrolecithal and Centrolecithal

Microlecithal and Telolecithal

Mesolecithal and Homolecithal

Microlecithal and Isclecithal

180.

181.

182.

R Re L B B R B Rt R
(A) T dfu

(B) ERFIfaE |y

(C) wieifsma dfiy

(D) “wEeH Gy

ot & @ = gferem W s S $2

N

(B) R T

efl % 3108 B ¥ :

(A) Hehrerdiee T Qe
(B) WISHICHIE T Aeiiordige
(C) Touierdtaa T8 sHE g

(D) TEHRHIIA T e

Set - A
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183. The graphic representation of age groups 183. ToRdt WY 1 34 WHE =4 o fos # fean

of a population given here, shows : TR, S AT
//\\I\’\ost Reproductive / /\
T Y
/ Reproductive \\\ / W ERIE) \

Pre Reproductive ™\ / aSH % N\
(A) Declining population (A) E UgeRE (SEE)
(B) Increasing population (B) @ qﬁg@m (SHE)
(C) Stable population (C) Ter digervF (SHEeE)
(D) Fluctuating population (D) SNfeR QevH (SHHE)

184. Calcium level in blood can be increased 184. o wefaf ey 9 wa o Siesam &1 =)

by administration of : A T ?

(A) Glucagon (A) TERIA
(B) Thyroxine (B) uRRifeE
(C) Parathormone (C€) eRER
(D) Calcitonin (D) HiewRife

185. Metachrosis is a phenomenon in which : 185. HITHINGH 9% STIYRON § Fore

(A) Colour of skin changes with age (A) 34 % Y &= ok afafdd 2 s
2

(B) Colour of skin changes during (B) TS % WFF @@l &1 U1 yRafad @
reproduction AR

(C) Colour of skin changes with the (C) TR SAEX & U1 % STIEY @ &l
colour of external environment 1 aiEfid & S R

(D) Colour of skin changes with (D) 9 % e = &1 01 yfkafdd g €
temperature
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186. A colourblind daughter is born in case 186. Teh heRIRS Tf!@ﬁ 1 S BT 1S
of :
(A) Colourblind mother and normal (A) hesrE-S w1 A Atder T &
father
(B) Carrier mother and colourblind (B) SR Wi 7 s o |
father
(C) Normal mother and colourblind (@) e W o heReArsS fudl 8
» father
(D) Carrier mother and normal father (D) Hfew A« fefer faar &
- 187. Ciliated epithelium occurs in : 187. Tofadrs wdheiferaw g = €
(A) Kidney and Trachea (A) Tesdta cheran
(B) Trachea and Lung B) 3w T Wwhg
(C) Trachea and Liver © fepan 9 Iha
(D) Trachea and Uterus (D) e a iR
188. Archeopteryx is known as connecting 188. STFRATEE T Haei fefsh |l ST ¥
link because it is a fossil and has Fiifeh a8 T ey 2 g T e e
characters between : AFATAME
(A) Fish and Amphibia (A) T T IR
(B) Bird and Reptiles (B) st au wgy
(C) Reptiles and Mammals (C) TGy do WU
(D) Chordata and non-chordata (D) HTEA T TA-FIS
189. Collagen is : 189. HIRISH € :
(A) Fibrous protein (A) iEIH BICIE]
(B) Fat (B) =W
(C) Epithelial tissue (C) wHEifaaa Ha%
(D) Tight junction (D) <T13E WA
SPACE FOR ROUGH WORK / % & & fad s
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190. What is wrong about angiosarcoma ?

(@) Malignant tumour cells divide

erratically

(b) Malignant tumour formed from
epithelial cells

(c) Malignant tumour originate from

mesoderm

(d) Malignant tumour form in spleen
(A) (a), (b)

® ((®),

© (@, ©

D) ®) (©

191. In ecological succession, the climax
community is best recognized by the
following state :

(A) P=R
(B) P>R

(C) P<R

(D) P=R

190. TNSIAmERIHT ¥ T § o a7 © 7

(a) ST TR wHIfER Sffea &9 4
ot dar 7

(b) o SR T i d S
7l

(c) Tdeh SR Hisied ¥ 3o B §1

(d) =Tceh SR T H S e
(A)  (a), (b)
(B) (b), (d)
© @©

D) ®) (©

191, wifofae o FH B THRY WHEE H
FF TeAH R ST % g A v ?
(A) P=R
(B) P>R
(C) P<R

(D) P=#R
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192. Match the following :

193.

(a) Leishmania (i) Malaria
donovani .

(b) Wuchereria (i) Amoebiasis
bancrofti

(c) Trypanosoma (iii) Kala-azar
gambiense

(d) Entamoeba (iv) Sleeping
histolytica sickness

(v) Filariasis

@ ® ( (9
(A) (i) (v) '
(B) () (v) (@ O
©) @ @@ @
(D) @) ) O

In an egg the type of Cleavage is
determined by the :

(A)
(B) Size and location of the nucleus
©
(D)

Shape and size of the ovum

Amount and distribution of yolk

Number of egg membrane

193.

(a) feremafran (@) Al
SHE

(b) TR () AR
ATHTRTE

() SAEm (iii) TSR
Tresfiedt

(d) w3 (iv) Tt
fexemefesnt fawa

) Wﬂﬁ'@ﬂ

(@ ® @@ @

(A) @) (v) (v) ()

®) @) (v) G @

© G@v) @) G @

(D) @) @) ) @

a1u2 ¥ foreer ¥ YR 1 Ui g ©

(A) ST H ARG T TR ARRN
(B) H=F I MHR TH TIM

(C) Ak WA TE SHHR ferar
(D) s fafeerdl ® de

194. Hypersensitivity towards any foreign  194. el Tt Terdl sreEn T W T st
material or particle is known as : TS I W1 AT FEA © ?
(A) Hypergenital disease (A) FRISAREH
(B) Congenital disease (B) EARSEIFCT!
(C) Cancer (C) FW
(D) Allergy (D) Ll
SPACE FOR ROUGH WORK / T @ & fordt srre
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195. Which is derived from ectoderm ?

196.

197.

(A) Epidermis
(B)
©

(D)

Spinal cord
Retina

All the above

Compare statement (a) and (b) and select
the correct description.

Statement (a) : Ranikhet disease is the
disease of poultry

Statement (b) : It is caused by virus
(A) Both (a) and (b) are correct

(B) (a) is correct (b) is wrong

©

(a) is wrong (b) is correct

(D) (a) and (b) are wrong

Central dogma of molecular biology was
modified with the discovery of :

(A) Ligase
(B) RNA polymerase
©

(D)

DNA polymerase

Reverse transcriptase

195. I TERISH 9 I S 8 ?

196.

197.

(A) udrefiw
(B) T HS ’
(©) e

(D) 3SulrE wt

TR (a) TYT (b) T T B AT TE AT

=i

HAT (a) : GG W1 T FEE H WM
I

U (b) : e FeTeT] BT €A €
(A) (a) @ (b) ST W& €1
(B) (a) W&l & @M (b) e T
(©) (a) T R A (b) T R
(D) (a) T (b) Sl e €

SR F WY T=iE & 74 2

(A) TS

(B) SR.UAT, Qiferayst
(C) dw.u difaH
(D) e grafees
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198. Erythroblastosis foetalis occurs when : 198. 3Ry=mRITY wEfas oE st § 9 ¢

(A) Father is Rh* and mother is Rh~ (A) TdiRh+* & 911 Rh—-
(B) Father is Rh~ and mother is Rh* (B) f9aT Rh~ & AIl Rh*
(C) Both are Rh* (C) SHIRh*
(D) Both are Rh~ (D) i Rh-

199. A pleiotropic gene is : 199. T faeeiidifus <im 2 :
(A) IA (A) &
B) HE> (8) HLS
(C) HpA (C) HbA
(D) I° D) P

200. XXY condition of sex chromosomes occurs 200. XXY U9 HHEN I8 919§

in:

(A) Turner’s syndrome (A) TR fagm

(B) Klinefelter's syndrome (B) e e fagm
(C) Down’s syndrome (C) =9 fagm

(D) Superfemale (D) X wEA

-00o0- -00o0-
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Note :

1.

S N

This Question Booklet contains Three Parts -

(i) First Part : Physics 1-60

(ii) Second Part : Chemistry 61-120

(iii) Third Part : (A) Mathematics 121-200
(B) Biology 121-200

Part First & Second are COMPULSORY. Candidates should attempt ANY ONE PART
from Third Part (A) and (B).

Each question carries 1 mark. All questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

No negative marking will be done.

Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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